Question 1

Correct Answer: B. Yes, because Anna had the right of way at the pedestrian crossing. Explanation:
Ben owed Anna a duty of care as a pedestrian at a marked crossing, and his failure to yield breached
this duty. Anna had the right of way, making Ben'’s cycling behaviour reckless. A is incorrect because
while cycling in pedestrian areas may pose risks, it does not automatically establish negligence
without further breach of care. C and D misstate Anna's and Ben's respective duties, focusing on
incorrect applications of contributory negligence and lawful behaviour. E incorrectly applies the
concept of contributory negligence as a full defense, which does not negate Ben’s initial breach of
duty.

Question 2

Correct Answer: D. No, because there was no new consideration for the additional £2,000.
Explanation: A contract modification requires new consideration to be legally binding. Maria
provided no additional benefit to justify the price increase, and John’s reluctant agreement does not
suffice. A and B overlook this principle, assuming that mutual agreement alone validates the
modification. C ignores the potential for valid modifications if made in good faith and supported by
consideration. E misapplies duress, as economic pressure alone does not necessarily invalidate
contractual agreements unless coercion is proven.

Question 3

Correct Answer: A. Yes, because all communications during mediation are privileged. Explanation:
Mediation confidentiality protects all communications made during the process, ensuring parties can
negotiate without fear of repercussions. A is correct because this privilege is fundamental to
maintaining trust in mediation. B incorrectly asserts absolute confidentiality without exceptions,
ignoring situations where mutual consent may waive it. C and D misunderstand the scope of
privilege, as mediation rules are not overridden by the lack of explicit labels or the scale of the claim.
E is incorrect because the relevance of evidence does not supersede the legal protections granted to
mediation communications.

Question 4

Correct Answer: A. Yes, because the supermarket failed to place clear warning signs near the wet
floor. Explanation: The supermarket owed Lucy a duty of care to provide a reasonably safe
environment. The absence of warning signs indicates a failure to meet this standard, making them
liable. B is partially correct but overemphasizes the irrelevance of cleaning procedures. C and D
incorrectly shift the focus to Lucy’s conduct and the supermarket’s efforts without addressing the
core breach. E misunderstands the obligation to prevent foreseeable risks.

Question 5

Correct Answer: C. Constitutional conventions are political practices that, while not legally
enforceable, are adhered to out of a sense of political obligation and public accountability.



Explanation: Cis correct because conventions rely on adherence due to political norms rather than
legal obligations. A is incorrect because conventions are not legally enforceable by courts, even
though they are crucial to constitutional operations. B is incorrect because conventions are not
binding agreements; they are understood practices. D is incorrect because the Miller (No. 2) case
addressed the legal issue of prerogative powers, not the enforcement of conventions. E is misleading
because while conventions can sometimes inspire legal rules, this transition is not automatic or
inherent to their nature.

Question 6

Correct Answer: D. Procedural fairness and irrationality, because the council both denied Mr. Patel a
fair opportunity to participate in the consultation and made a decision that no reasonable authority
could reach.

Explanation: D is correct because judicial review allows challenges based on multiple grounds, and
the strongest arguments here involve procedural unfairness and irrationality. A is incorrect because
the conditions imposed on other applications do not directly affect Mr. Patel’s case. B is partially
correct but overlooks the additional ground of irrationality. C is partially correct but fails to address
the procedural fairness issue. E is overly broad, as not all grounds are equally strong or applicable in
this specific case.

Question 7

Correct Answer: A. Yes, because the council has a duty to maintain public spaces in a safe condition,
and their failure to repair the pavement despite multiple reports constitutes a breach of that duty.
Explanation: The council’s failure to address known hazards in public spaces constitutes negligence. A
is correct because the council is expected to act on reports of dangerous conditions. B is incorrect
because ownership alone does not create automatic liability. C misplaces the burden of care on the
injured party, which is not applicable in this case. D is irrelevant unless the council can demonstrate it
contracted out the duty, which does not change the fact that the hazard was not addressed. E
misinterprets the duty of care by assuming no foreseeability is required when there has been notice
of the risk.

Question 8

Correct Answer: A. Yes, because Emma failed to meet the deadline, which is a material breach of the
contract, justifying Jake's refusal to pay. Explanation: A material breach of contract, such as failing to
meet a crucial deadline, gives the non-breaching party the right to terminate the contract or refuse
payment. A is correct because time was likely of the essence in this case. B and C incorrectly
downplay the significance of the deadline breach. D focuses on Jake’s reasonableness in denying an
extension, but it is Emma’s failure to perform on time that is central here. E confuses contract
alterations with breaches.

Question 9



Correct Answer: C. No, because withholding rent is considered a breach of contract, and Charlotte
should seek legal remedies through the courts rather than taking unilateral action. Explanation:
While Charlotte may have a valid complaint, withholding rent without legal justification constitutes a
breach of the rental agreement. C is correct because tenants must seek remedies through legal
channels rather than self-help. A and B are incorrect because the law typically requires formal legal
actions, not unilateral measures, to address landlord disputes. D is too absolute, as there are
situations where tenants can seek remedies through the court. E mistakenly overemphasizes formal
complaints as a prerequisite for withholding rent.

Question 10

Correct Answer: A. Yes, because Sarah failed to properly check the intersection before turning, which
is a breach of her duty to exercise caution around cyclists and pedestrians. Explanation: A is correct
because drivers have a duty to ensure they can safely make a turn, especially in areas with
pedestrians or cyclists. B is incorrect because it incorrectly places the onus entirely on the
obstruction rather than the driver’s overall duty. C overlooks Sarah’s responsibility to check for all
road users, including cyclists. D assumes that the obstruction absolves Sarah, but drivers are still
responsible for checking when it is safe to turn. E misplaces the fault and overlooks the fact that
Sarah was responsible for ensuring it was safe to turn.

Question 11

Correct Answer: A. Yes, because Zenith Corp breached the contract by cancelling the order, and
Daniel is entitled to claim the agreed-upon price for the desks, even if they were not delivered.
Explanation: A is correct because Zenith’s cancellation is a breach, and Daniel is entitled to the full
contract price. B is partially correct but overlooks that the agreement was for delivery, not just
manufacture, so Daniel cannot claim the full £5,000 without delivery. C wrongly assumes non-
delivery negates the contract. D incorrectly suggests Zenith had the right to cancel the order
unilaterally without consequences. E applies force majeure too broadly, as this situation does not
meet the typical criteria for such an event.

Question 12

Correct Answer: C. No, because all communications made during mediation are protected by
confidentiality and cannot be used in court without both parties’ consent. Explanation: C is correct
because mediation communications are generally protected by confidentiality rules to encourage
honest negotiations. A and B incorrectly assume that confidentiality protections do not apply. D
misinterprets consent as a requirement for mediation communications; confidentiality applies
regardless of awareness. E is incorrect because sanctions are typically imposed for a breach of
confidentiality during the mediation, but the key issue here is the protection of communications.

Question 13

Correct Answer: A. Yes, because the mall was aware of the hazard and failed to take reasonable steps
to mitigate the risk to visitors, constituting a breach of duty. Explanation: A is correct because the



mall was aware of the danger and had a duty to address it by cleaning up the wet patch or providing
a warning. B is incorrect because the mall’s duty only extends to hazards it knows or should have
known about. C and E incorrectly place the burden of care on Emily. D wrongly assumes the wet
patch was unforeseeable, especially when the mall knew about it.

Question 14

Correct Answer: C. No, because the government has the power to impose restrictions in the public
interest, especially during a public health crisis. Explanation: C is correct because the government can
impose temporary restrictions during emergencies, particularly to protect public health, under the
powers available to it. A is incorrect because the right to assembly is not absolute and can be
restricted in certain circumstances. B is incorrect because the limitation may be proportionate in this
case. D is partly correct but does not fully address the scope of the government's powers. E is wrong
because the Human Rights Act 1998 allows challenges in UK courts for rights under the ECHR.

Question 15

Correct Answer: B. Yes, because Alice can argue that the clause is unconscionable and should not be
enforced due to its unfairness. Explanation: B is correct because Alice can challenge the fairness of
the arbitration clause in court, especially if it was included without her full understanding or consent.
Ais incorrect because arbitration clauses can still be enforced even if a party was not fully informed.
Cis overly broad and does not consider situations where fairness might be contested. D does not
account for the potential for unfair or coercive clauses to be challenged. E is incorrect because
arbitration clauses can be subject to review and can be challenged on fairness grounds.

Question 16

Correct Answer: A. The company may be able to limit its liabilities by ensuring that each entity is
responsible only for its own operations, protecting the other from potential legal risks. Explanation: A
is correct because separating the business into two legal entities can isolate liabilities and reduce the
risk of one entity's debts or legal issues impacting the other. B is incorrect because investors may
prefer a more cohesive, integrated company rather than smaller, fragmented entities. C is incorrect
because restructuring does not automatically lead to simplified tax obligations. D is incorrect because
restructuring does not exempt the company from regulations. E is incorrect because restructuring
usually increases administrative costs due to the need for separate management and legal
compliance.

Question 17

Correct Answer: B. Yes, because the delivery time is a condition of the contract, and any delay
beyond the agreed period automatically allows Sarah to terminate. Explanation: B is correct because
the contract likely includes a condition that time is of the essence, meaning a delay beyond the
specified period is a breach that gives Sarah the right to terminate. A is incorrect because not all
delays are considered fundamental breaches unless time is explicitly stated as essential. C and D



misinterpret the nature of the breach in relation to the contract terms. E is incorrect because the
delay may be considered significant enough to allow termination.

Question 18

Correct Answer: A. Yes, because Greg knew about the dangerous condition and failed to take
reasonable steps to warn visitors of the hazard. Explanation: A is correct because Greg knew about
the slippery surface and had a duty to take reasonable steps to warn visitors of the hazard. B is
incorrect because Greg is not automatically liable for all injuries but only for those resulting from
breaches of duty. C overlooks the fact that Greg had a responsibility to prevent foreseeable hazards.
D is incorrect because even if the surface was naturally wet, Greg had a duty to make it safe for
visitors. E is incorrect because the kiosk owner is still responsible for maintaining safe conditions on
their premises.

Question 19

Correct Answer: C. No, because public health measures are subject to a high level of deference by
the courts, and restrictions like these are generally seen as a necessary and reasonable response to a
public health crisis. Explanation: C is correct because courts typically give significant deference to
government measures during public health emergencies, especially when the restrictions are aimed
at protecting public safety. A and B are incorrect because the restrictions could be considered
proportionate if they are tailored to address the health crisis. D is partially correct, but it misses the
broader context of the government’s obligation to balance public safety and individual rights. E is
incorrect because while the government has broad powers, it still must ensure that the restrictions
are justified, proportionate, and narrowly tailored to the public health concern.

Question 20

Correct Answer: C. Fiona must follow the ADR process as outlined in the partnership agreement,
which includes mediation and arbitration, before she can resort to litigation. Explanation: C is correct
because the partnership agreement specifies that ADR methods must be used before litigation. This
clause is enforceable, and courts will generally uphold such agreements, as long as the ADR methods
are reasonable. A is incorrect because ADR clauses are generally enforceable, and litigation should
not be initiated until ADR has been pursued. B is wrong because Fiona cannot simply disregard the
ADR clause without following the process, even if she believes it to be futile. D is incorrect because
litigation for a declaratory judgment would undermine the express intent of the partnership
agreement to resolve disputes through ADR first. E is partially correct, but Fiona does not need legal
advice to understand that she must follow the ADR process as per the agreement.

Question 21

Correct Answer: B. Alex should consider whether the joint venture’s original purpose has been
fulfilled or if it remains viable, as this could justify dissolution without further escalation.
Explanation: B is correct because the viability of the joint venture and whether its original purpose
has been fulfilled are key factors in determining whether dissolution is necessary. If the joint



venture’s goals are no longer attainable or the business environment has changed, dissolution might
be appropriate. A, C, D, and E are all important considerations, but they are secondary to the primary
factor of whether the joint venture remains viable or serves a practical purpose.

Question 22

Correct Answer: A. Yes, because the delay exceeds the timeframe specified in the contract, and time
is considered of the essence in construction contracts. Explanation: A is correct because construction
contracts often have time stipulations that are considered critical, and failing to meet these deadlines
can constitute a breach of contract, allowing the non-breaching party to terminate the agreement. B
is incorrect because delays caused by the construction company may not automatically give Lisa the
right to terminate unless the delay is considered unreasonable or material. C is incorrect because
while compensation may be offered, a substantial delay can still warrant termination if it goes
beyond the agreed-upon timeline. D is incorrect because the absence of a penalty provision does not
prevent termination if the delay is a material breach. E is incorrect because frustration alone does
not justify termination without a material breach.

Question 23

Correct Answer: C. Judicial decisions in common law systems can create binding precedents, which
future courts must follow unless they are overturned by a higher court or Parliament enacts a new
statute. Explanation: C is correct because the hallmark of a common law system is the principle of
stare decisis, where judicial decisions, particularly those made by higher courts, create precedents
that lower courts are bound to follow. B is incorrect because judicial decisions in common law
systems can create binding precedents, not just interpretations. D is incorrect because judicial review
involves reviewing the constitutionality of laws, but it is not the primary way the judiciary develops
law. A and E are incorrect because they undervalue the significant role the judiciary plays in shaping
the law through precedents and interpretation.

Question 24

Correct Answer: B. Yes, but only if the supplier’s delay was considered a material breach, which can
be assessed by the court based on the nature of the delay and the specific terms of the contract.
Explanation: B is correct because whether a breach allows for termination depends on whether the
delay is considered material, which is typically assessed by a court. If the delay was substantial and
the contract provided for timely delivery, Sarah may have grounds to terminate. A is incorrect
because the court will assess whether the delay was material before determining if termination is
justified. Cis incorrect unless there is a valid force majeure clause that applies to the situation. D is
incorrect because Sarah’s ability to claim damages does not depend on foreseeing the delay but on
the materiality of the breach. E is incorrect because even if Sarah cannot show significant loss, she
may still be entitled to terminate if the breach is material.

Question 25



Correct Answer: B. Yes, but only if John can prove that the council's failure to maintain the pavement
was a direct cause of his injury, and the defect was foreseeable. Explanation: B is correct because in
negligence cases, John would need to prove that the council owed him a duty of care, that the defect
was foreseeable, and that the council’s failure to maintain the pavement directly caused his injury. A
is incorrect because proving causation is key in negligence claims, and the defect must be directly
linked to the injury. Cis incorrect because public bodies are not immune from all tort claims,
especially if negligence can be proven. D is incorrect because using a public park does not
automatically mean that John assumed the risk of injury. E is incorrect because even if the defect was
not easily identifiable, the council may still be liable if the failure to maintain the area was
foreseeable and avoidable.

Question 26

Correct Answer: A. Yes, because the written agreement between Mark and Simon explicitly requires
mediation before litigation, and courts will generally enforce such clauses. Explanation: A is correct
because the written agreement between the parties binds them to attempt mediation before
pursuing litigation. Courts generally enforce such clauses, and Mark is required to comply with the
terms of the agreement. B is incorrect because mediation is not required in all property disputes; it
depends on the agreement between the parties. C is incorrect because Mark cannot unilaterally
bypass the mediation clause. D is incorrect because the clause applies regardless of one party's
agreement, and Mark must attempt mediation first. E is incorrect because informal attempts to
resolve the dispute do not fulfil the requirement for formal mediation as specified in the agreement.

Question 27

Correct Answer: B. Yes, because the contract does not explicitly define the delivery date as a critical
term, and minor delays do not automatically constitute a breach. Explanation: B is correct because
unless the contract specifies that the delivery date is essential, a minor delay does not automatically
amount to a material breach. In this case, the delay was largely caused by XYZ Corp.'s change
request. A is incorrect because Jane’s delay, although caused by a client request, still constitutes a
delay. Cis incorrect because minor delays are not automatically grounds for withholding payment
unless the contract specifically makes the date a condition precedent. D is incorrect because the
delay was caused by XYZ Corp.’s request for design changes, not by Jane’s own failure. E is incorrect
because Jane cannot predict that the design change would take longer than expected without any
forewarning from XYZ Corp.

Question 28

Correct Answer: B. Yes, because Lucas has a duty of care to ensure that his premises and equipment
are safe, and he may be liable for negligence even if the fire was caused by the contractor's
installation. Explanation: B is correct because Lucas has a duty to ensure that his premises are safe
for others, including taking reasonable steps to prevent any foreseeable risks, such as fires. Even if
the malfunction was due to the contractor's work, Lucas may still be found liable if he failed to
ensure the heating system was properly installed or maintained. A is incorrect because strict liability
does not apply to a situation like this. Cis incorrect because, as the owner of the premises, Lucas
may still be liable for failing to take appropriate precautions to ensure safety. D is incorrect because



contributory negligence refers to the claimant's own fault, not the defendant’s duty to ensure safety.
E is incorrect because negligence claims can apply even if the defendant was not acting deliberately
or grossly negligent, as long as there was a failure to meet the standard of care.

Question 29

Correct Answer: A. Yes, because the mediation clause in the partnership agreement is legally binding,
and Emma is required to attempt mediation before resorting to litigation. Explanation: A is correct
because the mediation clause in the partnership agreement is legally binding, and Emma is obligated
to attempt mediation before taking legal action. B is incorrect because partnership law does not
require mediation in all cases, but a contractual obligation must be followed. C is incorrect because
the clause requires mediation, not just a suggestion. D is incorrect because Emma is still obligated to
attempt mediation, even if Tom refuses to participate, unless the clause states otherwise. E is
incorrect because the requirement to mediate is not contingent upon bad faith but is a condition of
their partnership agreement.

Question 30

Correct Answer: B. Yes, but only if Jack can prove that Innovate Ltd.’s failure to provide capital and
expertise has caused substantial harm to his business. Explanation: B is correct because Jack can
terminate the agreement if Innovate Ltd.’s failure to perform constitutes a material breach that
causes significant harm to his business. A is incorrect because Jack must demonstrate harm, not just
breach, to terminate. Cis incorrect unless the contract specifically includes a force majeure or delay
clause. D is incorrect because the breach appears material due to the impact on the business, and
renegotiation is not the primary remedy. E is incorrect because while dispute resolution mechanisms
may apply, they do not preclude termination if the breach is significant and unresolvable.

Question 31

Correct Answer: A. Yes, because civil courts can hear human rights claims related to evictions if they
fall under the Human Rights Act 1998 and the claim is brought within the appropriate timeframe.
Explanation: A is correct because under the Human Rights Act 1998, individuals can bring human
rights claims in domestic courts, including civil courts, provided the claim falls within the provisions
of the Act (such as the right to respect for private and family life under Article 8). B is incorrect
because civil courts do not have automatic jurisdiction over all human rights claims; the claim must
fall within the specific statutory framework. C is incorrect because domestic courts have jurisdiction
over human rights claims, not only the European Court of Human Rights. D is incorrect because
human rights claims can be pursued in civil courts in the UK, and housing legislation does not exclude
human rights claims. E is incorrect because the employment tribunal only deals with employment-
related disputes, not housing or eviction claims.

Question 32

Correct Answer: A. Yes, because posting a photograph on a public platform does not waive her
intellectual property rights, and the website’s use constitutes copyright infringement. Explanation: A



is correct because copyright protection arises automatically when an original work is created, and
sharing a photograph publicly does not automatically grant permission for others to use it. B is
incorrect because acknowledging the photographer’s name does not eliminate the requirement to
obtain permission to use the image. C is incorrect because public posting does not equate to granting
consent for unrestricted use. D is incorrect because there is no fair use exception in UK law that
permits the use of copyrighted works for commercial purposes without permission. E is incorrect
because copyright protection does not require registration in the UK; it exists as soon as the work is
created.

Question 33

Correct Answer: A. Mediation, because it is a non-binding process where both parties can reach a
mutually agreeable solution with the help of an independent mediator. Explanation: A is correct
because mediation is a widely used alternative dispute resolution (ADR) method that is non-binding
and allows the parties to discuss and resolve issues with the help of an impartial mediator. This
method is often used when parties are open to finding a solution outside of the formal court system.
B is incorrect because arbitration results in a legally binding decision and is generally used when
parties have agreed to arbitration as a dispute resolution method. Cis incorrect because litigation is
a formal process that should be considered after ADR methods have been explored. D is incorrect
because negotiation, while valuable, does not involve a third party to facilitate the discussion and
may not lead to a resolution. E is incorrect because conciliation involves a conciliator proposing
solutions, but mediation focuses on voluntary agreements from the parties themselves.

Question 34

Correct Answer: D. Emily should seek guidance from her supervising solicitor or the Solicitors
Regulation Authority (SRA) before deciding whether to disclose the hidden assets, in order to ensure
that her actions comply with ethical standards. Explanation: D is correct because in situations
involving ethical dilemmas, solicitors should seek advice from more experienced colleagues or the
SRA to ensure they comply with their professional responsibilities. B is also a valid option if Emily
cannot persuade Robert to comply with ethical standards, but seeking guidance first is the prudent
approach. A is incorrect because confidentiality does not extend to allowing a client to use
fraudulent means to obtain a better outcome. C is incorrect because while Emily has an obligation to
prevent fraud, disclosing confidential information without first seeking advice may lead to
unintended consequences. E is incorrect because continuing to represent a client who insists on
unethical actions without seeking guidance would violate ethical obligations.

Question 35

Correct Answer: C. Alan should terminate the contract and seek alternative suppliers, as the
supplier's failure to deliver all 100 units constitutes a fundamental breach of contract. Explanation: C
is correct because a failure to deliver the full quantity of goods stipulated in the contract can be
considered a fundamental breach, allowing Alan to terminate the contract. A is incorrect because,
although the 10% discount is an offer of compensation, it does not address the fundamental issue of
non-delivery. B is incorrect because renegotiation is typically not applicable when there is a material
breach, and Alan's need for all 100 units for a specific event makes the delay unacceptable. D is



incorrect because while partial delivery may be useful, it does not mitigate the breach of contract,
and Alan would not be required to accept the partial delivery under these circumstances. E is
incorrect because, while a breach has occurred, accepting the offer and filing a legal claim is
contradictory, as claims typically arise after attempting to resolve the dispute through negotiation or
breach acknowledgment.

Question 36

Correct Answer: B. Whether the bill’s surveillance provisions violate the right to privacy, as
guaranteed under the country’s constitution, and whether such provisions are justifiable in a
democratic society. Explanation: B is correct because the key constitutional issue at stake is whether
the government’s surveillance provisions violate the fundamental right to privacy and whether any
such violation can be justified under the principles of proportionality and national security. A is
incorrect because parliamentary sovereignty generally allows the government to pass laws, but this
case focuses more on fundamental rights than legislative oversight. C is incorrect because limiting
access to websites is an issue of freedom of expression, which is related to the right to privacy but
more specifically related to censorship and free speech. D is incorrect because the issue here is not
one of executive overreach but rather whether the government’s actions infringe upon individual
constitutional rights. E is incorrect because, although international human rights law is relevant, the
main issue in this case concerns the domestic constitutional rights of the citizens of Country A.

Question 37

Correct Answer: A. Yes, because Rachel’s failure to adhere to the building regulations constitutes a
breach of her duty of care as an architect, and this breach directly led to the financial losses suffered
by the client. Explanation: A is correct because Rachel had a professional duty to ensure that her
designs complied with relevant building regulations, and her failure to meet those standards
constitutes a breach of her duty of care. B is incorrect because while gross negligence is a higher
standard, Rachel’s failure to comply with regulations is sufficient to establish negligence, even if it is
not gross negligence. Cis incorrect because the breach (failure to comply with regulations) was
directly linked to the structural defect and the resulting damage. D is incorrect because the mistake
was not minor; it involved a failure to comply with important regulations, leading to significant
consequences. E is incorrect because Rachel, as the architect, had a professional obligation to ensure
the design complied with the required standards.

Question 38

Correct Answer: C. Sarah should withdraw from representing John, as her professional responsibility
requires her to avoid facilitating dishonesty or misleading the court. Explanation: C is correct because
solicitors have an ethical obligation not to facilitate dishonesty or deceive the court. If Sarah knows
that John has not been entirely truthful, she cannot continue to represent him without risking
breaching her ethical responsibilities. A is incorrect because continuing to represent a client who has
been dishonest would compromise Sarah’s professional integrity. B is incorrect because advising a
client to be honest is not sufficient if the client has already been dishonest and this could lead to a
conflict of interest. D is incorrect because the SRA does not need to be immediately notified unless
there is an ongoing concern, and Sarah’s primary duty is to withdraw from representation. E is



incorrect because Sarah should not facilitate dishonesty by avoiding court proceedings; ethical duties
must always take precedence.

Question 39

Correct Answer: A. Yes, because Diane, as the property developer, has a non-delegable duty to
ensure the health and safety of all workers on her project, including those working for
subcontractors. Explanation: A is correct because, under tort law, a property developer can be held
liable for injuries caused on a construction site if they have a non-delegable duty to ensure the safety
of the workers. This duty applies even if the subcontractors are responsible for the actual work. B is
incorrect because even though Buildlt Ltd. is responsible for the overall work, Diane may still be held
liable due to her non-delegable duty for safety. Cis incorrect because Diane’s liability is not
necessarily based on inadequate supervision, but rather on her overarching duty to ensure safety. D
is incorrect because Diane cannot absolve herself of liability solely by delegating responsibility to
Buildlt Ltd. The duty is non-delegable. E is correct in principle, but it lacks the depth of a non-
delegable duty, which is the key factor in liability.

Question 40

Correct Answer: A. The joint venture should be set up as a separate company, as it provides limited
liability protection for both parties, ensures clear division of ownership and management, and allows
for easier investment and exit strategies. Explanation: A is correct because establishing a separate
company would provide both parties with limited liability, meaning they would not be personally
liable for the debts of the joint venture. This is essential in minimizing risk. The separate company
structure also clearly defines ownership, management, and profit-sharing, and it is easier to raise
capital or exit the venture if needed. B is incorrect because while a partnership might allow equal
control and direct profit-sharing, it exposes both parties to personal liability, which is a significant
disadvantage for a joint venture. C is incorrect because, while Thomas might want majority control,
the suggestion of limiting liability without full joint control could lead to disagreements and potential
legal issues. D is incorrect because even with a limited liability clause, a partnership generally does
not offer the same protection as a company, and liability would still be a significant concern. E is
incorrect because the structure under Thomas’s company could lead to significant liability exposure
for him personally, which is undesirable for both parties.

Question 41

Correct Answer: A. Maria is likely to win the case, as QuickSupply Ltd. failed to deliver the materials
on time, which constitutes a breach of contract, and she is entitled to compensation for the losses
incurred. Explanation: A is correct because QuickSupply Ltd.’s failure to deliver the materials on time
constitutes a clear breach of contract. As a result, Maria is entitled to compensation for the losses
directly caused by this breach, including any lost profits. B is incorrect because while the supplier’s
offer of a discount may mitigate some losses, it does not cover all of Maria’s potential financial
damage. Cis incorrect because the delay was not explicitly covered by a force majeure clause, and
even if it was, Maria could still seek compensation for any reasonable losses incurred. D is incorrect
because the delay did cause substantial losses for Maria’s business, and the supplier’s offer of
compensation does not meet the full extent of those losses. E is incorrect because the failure to



mitigate losses is typically assessed after considering the actual damages suffered, and it is unlikely to
affect the overall compensation Maria would receive for the breach.

Question 42

Correct Answer: A. John is likely to be held liable for the breach of contract, as he failed to meet the
deadline without a valid excuse, and Alpha Tech Ltd. is entitled to claim compensation for their
losses. Explanation: A is correct because John’s failure to meet the deadline constitutes a clear
breach of contract. While he may argue unforeseen technical difficulties, these do not typically
excuse non-performance unless explicitly covered in the contract or as force majeure. Alpha Tech Ltd.
has the right to seek compensation for any losses they incurred due to the delay. B is incorrect
because proving unforeseen technical difficulties without a valid contractual clause does not
necessarily absolve John of responsibility for breach of contract. Cis incorrect because while John
may demonstrate technical difficulties, this does not automatically warrant an extension; the court is
more likely to award compensation for the breach instead. D is incorrect because even though the
contract may lack specific penalty provisions, John’s failure to deliver on time still results in breach,
allowing Alpha Tech Ltd. to claim damages. E is incorrect because the request for an extension does
not automatically negate the breach, and the court will assess whether the delay was excusable.

Question 43

Correct Answer: A. Sarah should immediately seek legal action for breach of contract and claim
compensation for the delay in payment, asserting her right to suspend further work until payment is
received. Explanation: A is correct because Sarah has the contractual right to suspend further work
due to non-payment, and she can claim compensation for any losses caused by Beta Corp.'s delay in
payment. The suspension of work is an appropriate response to enforce her rights under the
contract. B is incorrect because continuing to work without payment could worsen Sarah’s position
and jeopardize her ability to claim compensation. Cis incorrect because, while negotiation is often a
good approach, Sarah is under no obligation to continue working without payment and has the right
to enforce the contract’s terms. D is incorrect because offering a settlement could be seen as
weakening her position, especially if Beta Corp. is in breach. E is incorrect because agreeing to Beta
Corp.s request would waive her right to enforce the contract’s terms, leaving her without leverage in
the dispute.

Question 44

Correct Answer: A. Yes, because the shopping centre management had a duty of care to maintain the
premises in a safe condition, and their failure to repair the known issue could be considered
negligent. Explanation: A is correct because the shopping centre management has a legal duty to
ensure the safety of visitors, and their failure to repair a known hazard, such as the leaking pipe,
could be seen as negligent. B is incorrect because even though the management may not have been
immediately aware of the leak, they had an obligation to maintain the premises and address
complaints about the issue. C is correct in principle, but it lacks the specific focus on negligence
resulting from the failure to act on prior complaints. D is incorrect because Olivia is not expected to
notice all potential hazards herself; the shopping centre management is responsible for providing a



safe environment. E is incorrect because the management cannot argue the leak was not visible
enough, especially since they had received multiple complaints about it.

Question 45

Correct Answer: A. Emma should disclose the correspondence to the court, as withholding evidence
would be a violation of her professional duty to the court and to the legal process. Explanation: A is
correct because solicitors have an ethical obligation to ensure the integrity of the legal process, and
withholding material evidence could undermine that process. B is incorrect because advising William
to settle is an attempt to avoid the ethical obligation to disclose the information. Cis incorrect
because privilege does not extend to information that is relevant to the case and is not protected in
the context of unethical conduct. D is partially correct in that Emma should encourage her client to
disclose, but she still has an obligation to reveal the evidence herself if necessary. E is incorrect
because withdrawal is not the appropriate action unless Emma cannot act without compromising her
ethical obligations, which in this case can be resolved through disclosure.

Question 46

Correct Answer: A. James should file an appeal to challenge the disqualification, arguing that Sarah's
expunged conviction should not be a factor in the decision to exclude her testimony, as the legal
precedent does not consider expunged convictions. Explanation: A is correct because James should
argue that the expungement of Sarah’s conviction should mitigate its impact on her ability to testify.
Expunged convictions typically are no longer legally relevant, and James can appeal to the court to
consider this change. B is incorrect because challenging the ruling on the basis of the expungement is
still a valid option. Cis incorrect because while informal negotiations may be a part of defense
strategy, it does not address the legal issues regarding Sarah’s disqualification. D is partially correct,
but reconsideration motions are generally more limited than appeals and may not have a sufficient
basis in this situation. E is incorrect because withdrawing is a drastic step, and James has a
professional duty to explore all legal avenues before discontinuing representation.

Question 47

Correct Answer: A. Prime Electronics should pursue legal action to enforce the renegotiation clause,
arguing that the increase in raw material prices is beyond 10% and that the clause is clear in its intent
to trigger renegotiation. Explanation: A is correct because Prime Electronics has a strong argument
that the contract clearly states the conditions under which renegotiation is required. The 12%
increase is above the threshold set out in the contract, and the supplier’s refusal to renegotiate could
constitute a breach of contract. B is incorrect because informal settlement is an option, but legal
action may be necessary to ensure enforcement of the terms. C is incorrect because force majeure
provisions typically address events outside the control of both parties, and this situation seems to
involve an agreed-upon contractual trigger. D is incorrect because walking away without enforcing
the contract would leave Prime Electronics without leverage and potentially cause financial losses. E
is incorrect because while renegotiation is important, legal action might be required to ensure the
terms of the contract are respected.



Question 48

Correct Answer: C. Josephine should recommend that Mark seek further settlement negotiations,
aiming to secure a higher amount while avoiding the risks and costs of trial. Explanation: C is correct
because further negotiations might help secure a higher settlement that balances the uncertainties
of litigation with the client’s best interests. A is incorrect because accepting the settlement without
further negotiation could leave money on the table. B is incorrect because litigation is not the most
advantageous course given the uncertainties. D is incorrect because trial is only advisable if it is likely
to result in a better outcome, which is uncertain in this case. E is incorrect because while alternative
dispute resolution may be appropriate in some cases, in this context, it may not provide a significant
advantage over settlement negotiations.

Question 49

Correct Answer: C. Both Lucas and his employer are likely to be held jointly liable, as the court may
determine that Lucas was acting within the scope of his employment despite the personal detour.
Explanation: Cis correct because vicarious liability can still apply if the employee was acting within
the broad scope of their employment, even if the actions were personal. The fact that Lucas was en
route to a business meeting may still place him within the scope of employment. A is incorrect
because vicarious liability often applies to acts done during the course of employment, and a detour
may not eliminate this entirely. B is incorrect because the employer may not be fully liable, especially
if the personal detour significantly deviates from the scope of employment. D is incorrect because
contributory negligence does not prevent vicarious liability in employer-employee relationships. E is
incorrect because someone must be liable, either Lucas or the employer, depending on the
circumstances.

Question 50

Correct Answer: B. Andrew should cancel the contract and seek alternative suppliers, as the delay
exceeds the agreed-upon delivery period and causes significant harm to his business. Explanation: B
is correct because the contract gives Andrew the right to cancel if delivery is delayed beyond the
agreed date. Since the delay poses a significant business risk, Andrew is justified in terminating the
contract. A is incorrect because renegotiating the contract might not be in Andrew's best interest,
given the urgency of the machinery. Cis incorrect because compensation is not explicitly addressed
in the contract, and Andrew’s priority is to mitigate further loss. D is incorrect because waiting for an
additional 14 days may result in further harm to Andrew's business, and accepting the delay
undermines his contractual rights. E is incorrect because withholding payment may cause legal
complications and may not resolve the fundamental issue of the delay.

Question 51

Correct Answer: C. Emily should advise Jake to consider forming a limited liability partnership (LLP),
which would provide him with the benefit of limited liability for business debts. Explanation: Cis
correct because an LLP offers limited liability protection, which would address Jake’s concerns about
personal liability. A is incorrect because while the partnership agreement can allocate responsibility
for certain debts, it cannot override statutory liabilities. B is incorrect because Emily can explain that



although personal liability is a general rule for partnerships, Jake can reduce some of his exposure
with the right structure, such as an LLP. D is incorrect because the partnership agreement cannot

limit liability for business debts. E is incorrect because Jake would still be personally liable for any

debts incurred under a sole trader structure.

Question 52

Correct Answer: D. Thomas should withdraw from representing Veronica in the commercial dispute if
he feels that her past actions may affect the integrity of his legal practice. Explanation: D is correct
because solicitors have a duty to act with integrity, and representing someone with questionable
past conduct could undermine that duty. A is incorrect because although Veronica’s past actions may
not be directly relevant to the dispute, Thomas must still consider whether they could affect his
ethical responsibilities. B is incorrect because the client has the right to choose the scope of
representation, and Thomas cannot force her to address unrelated criminal matters. Cis incorrect
because while Thomas has a duty to act ethically, he does not have an immediate obligation to
report Veronica’s actions unless they impact his legal representation or breach the law. E is incorrect
because failing to address the concerns about her past actions could compromise Thomas's
professional ethics.

Question 53

Correct Answer: C. Amy may be found liable if it is shown that the uneven ground was an obvious
and serious hazard, and she failed to warn Ben or take reasonable steps to make it safe. Explanation:
Cis correct because Amy, as a landowner, has a duty to take reasonable steps to ensure that her
property is safe for visitors, even if the visit is recreational. A is incorrect because while Amy has a
duty of care, the nature of the visit and the hazard’s significance need to be considered. B is incorrect
because the law does impose a duty of care for landowners, even for non-commercial use. D is
incorrect because liability can arise from failing to address known hazards, even if Amy did not create
the hazard herself. E is incorrect because although Ben invited the guests, Amy still retains
responsibility for the condition of her property.

Question 54

Correct Answer: B. John is likely to succeed, as the verbal agreement and the work completed
constitute a binding contract, and Brightldeas Ltd. cannot avoid payment by claiming dissatisfaction.
Explanation: B is correct because a verbal contract is generally enforceable, and the completion of
the work as agreed upon forms the basis of the contract. A is incorrect because verbal contracts are
still valid and enforceable in many cases. Cis incorrect because proving implied acceptance by
providing feedback would require evidence that an agreement was made and that it was clear the
design met the terms. D is incorrect because verbal contracts can be legally binding, although written
contracts are often recommended for clarity. E is incorrect because the contract is enforceable based
on the terms that were agreed upon, not on whether the design met expectations.

Question 55



Correct Answer: D. Sarah should consult her firm’s ethics committee to determine whether it is
appropriate to proceed with representing Tony, given the prior professional relationship with Claire.
Explanation: D is correct because consulting the firm’s ethics committee ensures that any potential
ethical conflicts are properly addressed before proceeding. A is incorrect because while there may be
no direct conflict of interest, the prior relationship could raise concerns, and Sarah should take
precautions. B is incorrect because withdrawing may not be necessary if proper steps are taken to
mitigate any ethical issues. C is incorrect because simply informing Tony about the prior relationship
without additional safeguards could leave Sarah vulnerable to ethical challenges. E is incorrect
because while avoiding ethical concerns is important, withdrawing without exploring all options is
not the most appropriate course of action.

Question 56

Correct Answer: B. Marcus should immediately disclose the witness’s history of making false
statements to his supervising partner and suggest that the witness be excluded from the case.
Explanation: B is correct because Marcus has an ethical duty to act with integrity and transparency in
all legal matters, including disclosing any issues that could affect the credibility of key evidence. A is
incorrect because ignoring the witness’s history would be unethical, as Marcus has a duty to provide
accurate information to the court. Cis incorrect because while relevance is important, Marcus still
has an obligation to disclose information that could affect the integrity of the case. D is incorrect
because secretly gathering evidence undermines the ethical principles of honesty and transparency
in the legal profession. E is incorrect because advising the client to withdraw may be premature;
instead, Marcus should address the issue appropriately by discussing it with his supervising partner.

Question 57

Correct Answer: B. Thomas may be held liable if it is found that he had a duty of care to ensure the
safety of the set, particularly since he was directly supervising the shoot. Explanation: B is correct
because, while Thomas may not have been responsible for the set’s maintenance, he still had a duty
of care to ensure that the environment was safe for those involved in the shoot. A is incorrect
because, even though Thomas may not have set up the set, his role in overseeing the shoot could
imply responsibility for safety. C is incorrect because the responsibility for maintaining the set may
primarily lie with the fashion brand, but Thomas could still be found liable if he failed to act with
reasonable care. D is incorrect because liability is not solely dependent on directly causing the
accident but rather on whether Thomas had a duty of care to prevent it. E is incorrect because even
if Nina contributed to the fall, Thomas’s failure to ensure a safe environment may still lead to liability.

Question 58

Correct Answer: C. Emily should assess the likelihood of success in court and then advise Alice on
whether to accept the mediator’s proposal or proceed with litigation. Explanation: C is correct
because Emily’s duty is to provide Alice with an informed assessment of her legal options, including
the likelihood of success in court. This would allow Alice to make a more informed decision about
whether to proceed with mediation or litigation. A is incorrect because encouraging Alice to accept
partial repairs without considering the potential outcomes of litigation would not be in her best
interest. B is incorrect because while Alice may deserve compensation, Emily must help her evaluate



all options, including the possibility of accepting a compromise. D is incorrect because withdrawing
from the mediation would not be a good option if the mediation still has potential. E is incorrect
because mediation has not yet been exhausted, and exploring other forms of alternative dispute
resolution may not be necessary at this stage.

Question 59

Correct Answer: C. Sam should outline that both parties have the option to claim damages, but
ShopFast Ltd. may also seek to terminate the contract due to anticipatory breach by QuickDeliver Ltd.
Explanation: Cis correct because both parties have potential claims for damages. ShopFast Ltd. can
seek to terminate the contract if QuickDeliver Ltd. anticipates a breach, and they may claim damages
for any losses. A is incorrect because it fails to consider the possibility of anticipatory breach by
QuickDeliver Ltd. B is incorrect because ShopFast Ltd. may have the right to terminate the contract
and claim damages, not just if QuickDeliver Ltd. failed to perform. D is incorrect because specific
performance is unlikely in cases involving the sale of goods unless the goods are unique. E is
incorrect because an injunction is unlikely to be the appropriate remedy for a breach of contract, as
damages would typically suffice.

Question 60

Correct Answer: A. Linda is likely to succeed in her claim for breach of contract, as the delivery clause
clearly stipulated the 30-day period, and Jack’s delay was not excused by unforeseen circumstances.
Explanation: Ais correct because the contract’s clear terms regarding the delivery date create a
binding obligation on Jack. Unless Jack can invoke a force majeure clause or provide proof that the
delay was unavoidable, he is in breach of contract. B is incorrect because force majeure clauses must
be clearly stated in the contract, and no mention is made of such a clause here. Cis incorrect
because the delay is material and could reasonably cause significant loss, particularly in a business
context. D is incorrect because nominal damages would not be appropriate if Linda can prove that
the delay caused actual financial losses. E is incorrect because Linda has no obligation to mitigate
losses if Jack’s breach was clear and intentional.

Question 61

Correct Answer: A. Clara is likely to succeed in her claim for negligence, as BrewDelight Ltd. had a
duty of care to ensure that the premises were safe, and the icy patch was a foreseeable hazard.
Explanation: A is correct because businesses have a duty of care to ensure that their premises,
including areas accessible to the public, are safe. The icy patch was foreseeable, and BrewDelight Ltd.
failed to take reasonable steps to prevent it. B is incorrect because businesses are responsible for
addressing hazards on their premises, even if they are caused by weather. Cis correct, but A is more
definitive because it establishes the overall duty of care and foreseeability of the hazard. D is
incorrect because BrewDelight Ltd. is responsible for the safety of areas around their property that
are within their control. E is incorrect because Clara’s injury appears to be more than nominal, and
she could reasonably claim actual damages.

Question 62



Correct Answer: C. Sarah should review the jurisdiction’s laws regarding non-compete clauses to
determine their enforceability and advise her client accordingly, considering the specific facts of the
case. Explanation: C is correct because before proceeding with legal action, Sarah must first assess
the enforceability of the non-compete clause, which can vary depending on the jurisdiction. A is
incorrect because proceeding without assessing the enforceability could lead to wasted resources
and an unsuccessful claim. B is incorrect because, while mediation may be an option, Sarah must first
understand the legal position before suggesting settlement. D is incorrect because this approach
does not consider the potential enforceability of the clause. E is incorrect because pre-emptively
terminating Peter’s employment may not be necessary and could complicate the situation further.

Question 63

Correct Answer: C. Jonathan should evaluate whether Anna can prove a direct connection between
the ordinance and her personal rights, such as whether she has been fined or had a political sign
removed. Explanation: C is correct because legal standing typically requires a party to show that they
are directly affected by the action they are challenging. A is incorrect because the fact that the
ordinance affects the public generally does not automatically preclude standing; it depends on how it
affects Anna specifically. B is incorrect because legal standing must be established first before filing a
challenge. D is incorrect because dismissing the case without evaluating standing could lead to
missing a potential valid legal challenge. E is incorrect because a human rights tribunal would not
necessarily have jurisdiction over a local ordinance unless it violates specific rights under
international or constitutional law.

Question 64

Correct Answer: A. Maria is likely to succeed in her claim for damages, as GreenGoods Ltd. breached
the contract by failing to deliver on time, and Maria can prove that the delay caused significant
financial loss. Explanation: A is correct because GreenGoods Ltd. failed to perform under the terms
of the contract, and Maria can likely prove that the delay caused her substantial harm, entitling her
to damages. B is incorrect because Maria’s right to terminate the contract and claim damages is not
negated by an offer to deliver late, especially if the delay caused material harm. Cis incorrect
because the delay appears severe enough to warrant more than nominal damages. D is incorrect
because Maria may be entitled to claim for consequential losses if they can be proven. E is partially
correct, but the primary issue is the breach of contract, not mitigation at this stage.

Question 65

Correct Answer: A. Tom is likely to succeed in his claim for negligence, as the council had a duty to
maintain public walkways, and the broken slab created a foreseeable risk of harm. Explanation: A is
correct because the local council has a duty of care to maintain public spaces, and their failure to
address the damaged pavement, despite prior notification, makes them liable for Tom’s injuries. B is
incorrect because the local council, as the responsible authority, can be held liable for the condition
of public areas. C is incorrect because the council’s responsibility for public maintenance is well-
established. D is incorrect because prior notice of the hazard implies that the council had knowledge
of the dangerous condition. E is incorrect because Tom may claim for both medical costs and
additional damages for pain and suffering.



Question 66

Correct Answer: B. James should argue that the delay was not significant enough to justify any
compensation and that FastTech is not entitled to any refund or discount. Explanation: B is correct
because the delay was not substantial enough to cause significant harm, and James can argue that
FastTech is not entitled to compensation unless they can prove that the delay directly impacted their
business in a measurable way. A is incorrect because offering compensation without clear
justification could set a precedent for future disputes. C is incorrect because offering a refund or
discount is not necessary unless FastTech can demonstrate a substantial loss due to the delay. D is
incorrect because agreeing to a full refund without clear evidence of damage could be an
unnecessary concession. E is incorrect because, while the contract may not explicitly mention delays,
FastTech’s potential harm from the delay needs to be assessed before refusing compensation
outright.

Question 67

Correct Answer: A. Mark is likely to succeed in his claim, as both Lucy and BuildRight Ltd. can be held
jointly liable for the negligence that led to his injury. Explanation: A is correct because both Lucy and
BuildRight Ltd. have a responsibility to ensure that the property is safe for public use, and their joint
negligence contributed to Mark’s injury. B is incorrect because Lucy, as the property owner, may still
bear some responsibility for ensuring the safety of the worksite. C is incorrect because as the
property owner, Lucy has an obligation to ensure that contractors maintain a safe work environment,
and her lack of direct involvement does not absolve her of liability. D is incorrect because even if Lucy
did not directly contribute to the unsafe condition, she still had a duty to ensure safety on her
property. E is incorrect because, while Lucy may seek indemnity from the contractor, this does not
absolve her of joint liability for the injury

Question 68

Correct Answer: B. Emily should advise Sarah to attempt negotiation or mediation first, as ADR
methods can be quicker and more cost-effective than litigation. Explanation: B is correct because
ADR methods such as mediation or negotiation offer a faster and less expensive way to resolve
disputes, which is beneficial for both Sarah and her landlord. A is incorrect because litigation should
generally be a last resort after other methods have been exhausted. Cis incorrect because while
housing tribunals may offer an alternative, mediation and negotiation should be pursued before
resorting to formal hearings. D is incorrect because accepting the eviction notice without challenging
it could result in Sarah losing her rights under the tenancy agreement. E is incorrect because ignoring
the notice could lead to further legal complications, such as eviction proceedings.

Question 69

Correct Answer: C. Anna should discuss the matter with her client and encourage him to disclose the
information voluntarily, thus protecting her ethical standing while still fulfilling her duty to the court.
Explanation: Cis correct because solicitors have an ethical duty to encourage their clients to act in

accordance with the law, and discussing the matter with Michael provides an opportunity to address



the situation without compromising Anna’s professional integrity. A is incorrect because maintaining
client confidentiality does not justify concealing evidence of fraud. B is incorrect because disclosing
the evidence without first discussing it with the client may breach Anna’s duty to the client. D is
incorrect because refusing to represent the client does not necessarily resolve the ethical dilemma. E
is incorrect because Anna should first seek to address the issue within her role as the solicitor for the
client, and external advice may be sought later if necessary.

Question 70

Correct Answer: B. Greenleaf Ltd. will likely fail in its challenge, as the local council has the authority
to regulate business operations within its jurisdiction and enforce compliance. Explanation: B is
correct because local councils generally have the power to enact regulations within their jurisdiction,
especially if they are aimed at maintaining public health and safety. A is incorrect because, while
businesses have rights, local councils have the power to regulate to an extent that businesses must
comply with. Cis incorrect because the fine appears to be proportionate, given the nature of the
breach (non-disclosure). D is incorrect because there is no indication that the fine is excessive or
disproportionate. E is incorrect because the regulation seems clear enough in its requirements.

Question 71

Correct Answer: A. Alex should consider how much control he is willing to give up and whether the
investment terms will affect his ability to make important decisions in the future. Explanation: A is
correct because giving up 40% of the company means Alex will have less control, and the future
decision-making process may be affected. B is incorrect because financial considerations should not
be the sole focus; ownership rights and control are equally important. C is incorrect because, while
tax obligations are important, they are secondary to the impact on control and decision-making. D is
incorrect because prioritizing capital without considering the consequences on control could harm
Alex in the long run. E is incorrect because the investment’s terms may involve more than just
structural changes; control over decisions and shareholder rights are also crucial factors.

Question 72

Correct Answer: A. Sarah is likely to succeed in her claim, as the landlord is legally responsible for
maintaining the property in a habitable condition and failing to repair the roof constitutes
negligence. Explanation: A is correct because landlords are legally obligated to maintain their
properties and ensure they are safe and habitable. B is incorrect because Mr. Thompson'’s failure to
repair the roof creates liability, regardless of the rain. Cis incorrect because the roof’s failure was due
to neglect, not just the heavy rainfall. D is incorrect because the landlord, not the tenant, is
responsible for maintaining the roof and ensuring safety. E is incorrect because, while Mr. Thompson
may argue the extent of his responsibility, the basic negligence claim is still valid due to the failure to
repair.

Question 73



Correct Answer: B. Fiona should negotiate with the supplier to clarify the terms of the arbitration
clause before proceeding, ensuring that the process is fair and transparent. Explanation: B is correct
because negotiating clarity in the arbitration clause will ensure that the process is conducted fairly
and according to agreed rules. A is incorrect because proceeding with a potentially unfair arbitration
could harm Mr. Harrison’s case. C is incorrect because rejecting arbitration outright without first
attempting to resolve the ambiguity may lead to unnecessary delays and costs. D is incorrect because
proceeding with an unclear arbitration clause risks an unfair process. E is incorrect because
arbitration remains the preferred method of dispute resolution as per the contract unless the parties
agree to an alternative.

Question 74

Correct Answer: C. Both Maria and the landlord will be held equally liable for the injury, as Maria's
negligence allowed the dog to enter, but the landlord is responsible for the dog's behaviour.
Explanation: Cis correct because Maria's failure to secure the door contributed directly to the dog
entering the house, and the landlord has a responsibility to control the dog, especially if it is known
to have the potential to cause harm. A is incorrect because while Maria contributed to the situation,
the landlord’s responsibility for the dog cannot be ignored. B is incorrect because the dog’s entry was
enabled by Maria’s action, so the landlord's responsibility is secondary. D is incorrect because the
dog’s behaviour is a significant factor in the injury, and negligence on Maria’s part is still relevant. E is
incorrect because while both parties might share liability, the dog’s behaviour must also be
considered.

Question 75

Correct Answer: A. David should immediately inform GlobalTech that Olivia acted beyond her
authority and that the changes will not be honoured unless both parties approve them in writing.
Explanation: A is correct because Olivia’s unilateral changes breach the contract, and it is important
for David to assert the contract’s requirements. B is incorrect because agreeing to honour the
changes without a written agreement would breach the original contract. C is incorrect because
while David may have a claim against Olivia, the immediate concern is addressing the contract with
GlobalTech. D is incorrect because David cannot apologize for a violation that he was not responsible
for. E is incorrect because the changes were made without proper approval, and GlobalTech’s request
for reduced payment is based on the contract’s breach.

Question 76

Correct Answer: A. Michael should appeal the decision to a higher court, providing evidence that the
judge made an error in interpreting the law or the facts of the case. Explanation: A is correct because
appealing the decision to a higher court is the proper legal procedure to challenge a court ruling. B is
incorrect because mediation or settlement is generally pursued before litigation, not after a decision
has been made. Cis incorrect because filing a new claim is not a proper method to challenge a
court’s decision. D is incorrect because filing a complaint against the judge does not address the legal
grounds for appeal. E is incorrect because Michael has the right to challenge the decision, and
accepting it without action may not be in his best interest.



Question 77

Correct Answer: B. Jane should attempt to negotiate with the opposing party to clarify the terms of
the arbitration clause, ensuring that the rules, number of arbitrators, and location are clearly defined
before proceeding. Explanation: B is correct because resolving the ambiguity in the arbitration clause
before proceeding ensures a fair and transparent process. A is incorrect because proceeding with an
ambiguous clause could result in an unfair process that jeopardizes Mr. Walker’s interests. C is
incorrect because abandoning arbitration without first attempting to resolve the ambiguity is
premature. D is incorrect because, while the ambiguity may cause concern, it does not automatically
render arbitration unenforceable. E is incorrect because resolving the ambiguity should involve direct
negotiation between the parties, not just a complaint to the arbitration provider.

Question 78

Correct Answer: D. Sarah should refuse to represent Mr. Thompson if he insists on concealing the
information, as this compromises her professional integrity. Explanation: D is correct because a
solicitor has an ethical duty to act with honesty and integrity. If Mr. Thompson insists on concealing
material information, Sarah cannot continue to represent him without violating her professional
duties. A is incorrect because disclosure of confidential information against the client’s wishes would
violate confidentiality rules. B is incorrect because confidentiality must be balanced with the
solicitor’s duty to the court. Cis incorrect because Sarah has an obligation to disclose material facts
in cases of significant legal consequence. E is incorrect because seeking a second opinion would not
address the ethical dilemma at hand.

Question 79

Correct Answer: D. Alex should invoke the principle of admissibility, arguing that the records do not
meet the legal requirements for electronic evidence. Explanation: D is correct because the
admissibility of evidence is a key factor in determining whether the court will accept it. Alex is
claiming that the records are not reliable, so he must challenge their admissibility. A is incorrect
because hearsay refers to out-of-court statements offered for the truth of the matter asserted, not
the authenticity of evidence. B is incorrect because while the burden of proof is on the prosecution,
the question at hand is the authenticity of the evidence, not its proof. C is incorrect because estoppel
does not apply in this situation. E is incorrect because judicial notice is for facts that are universally
recognized, not for contested evidence like electronic records.

Question 80

Correct Answer: A. Lucy will likely win her case because the gallery’s refusal to accept the painting
constitutes a breach of contract. Explanation: A is correct because the contract requires GalleryArts
to pay for the painting once delivered, and the gallery’s refusal to accept the painting can be seen as
a breach of that obligation. B is incorrect because even without a specified delivery date, GalleryArts
is still obligated to accept the painting and pay for it upon delivery. C is incorrect because payment
terms are implied by the nature of the contract, and the gallery is still obligated to pay for the
painting. D is incorrect because while the gallery should have made the payment, refusal to accept



the painting constitutes the breach. E is incorrect because the contract is still valid despite the lack of
a specific delivery date, as this does not render the agreement invalid.

Question 81

Correct Answer: B. Laura can argue that the other driver’s failure to wear a seatbelt contributed to
the severity of the injuries and therefore reduces her liability. Explanation: B is correct because the
other driver’s failure to wear a seatbelt could be seen as contributory negligence, which may reduce
the amount of damages awarded to the injured party. A is incorrect because while weather
conditions can contribute to accidents, they do not absolve Laura of responsibility for her actions
behind the wheel. Cis incorrect because the road conditions were icy, and it would be difficult to
argue that they were not dangerous. D is incorrect because there is no evidence that the other driver
was driving too closely. E is incorrect because the cause of the injuries is directly related to the crash,
and a pre-existing condition is unlikely to be relevant in this case.

Question 82

Correct Answer: D. James should issue a formal notice of breach, stating that GigaTech Supplies has
failed to meet the terms of the contract. Explanation: D is correct because James has the right to
demand performance under the contract or terminate it for breach. A is incorrect because
termination of the contract is not always immediate; a formal breach notice should be given. B is
incorrect because accepting a partial delivery may undermine James' right to full performance under
the contract. Cis incorrect because James should first issue a notice of breach before seeking
compensation. E is incorrect because renegotiating the contract may not be appropriate without
exploring other legal remedies first.

Question 83

Correct Answer: D. Susan can request that the court issue a ruling prohibiting the jury from knowing
about the previous conviction, as it could result in bias. Explanation: D is correct because Susan can
apply to the court for a ruling to exclude information about the previous conviction from being
presented to the jury if it is likely to cause unfair prejudice. A is incorrect because the conviction may
be relevant, and excluding it based on irrelevance is unlikely to succeed. B is incorrect because
introducing the conviction as evidence of a pattern of behaviour would typically be for the
prosecution to argue. Cis incorrect because the age of the conviction does not automatically render
it irrelevant. E is incorrect because it is the court’s responsibility to decide the admissibility of prior
convictions, not the prosecution’s.

Question 84

Correct Answer: B. Ben is strictly liable for the injuries caused by the explosion because of his
negligence in installing the gas line. Explanation: B is correct because Ben’s negligent installation of
the gas line is the direct cause of the explosion and subsequent injuries. He is liable for the
foreseeable consequences of his negligent actions. A is incorrect because while contributory
negligence could reduce damages, it does not absolve Ben of liability for his initial negligence. C is



incorrect because the injury is a foreseeable consequence of the negligent act and not too remote. D
is incorrect because the issue is Ben’s negligence, not Mrs. Smith’s awareness of the risk. E is
incorrect because assumption of risk does not apply here, as Mrs. Smith did not voluntarily accept
the risk of a gas leak.

Question 85

Correct Answer: C. Daniel is entitled to damages for the loss caused by the supplier’s breach of
contract, including lost profits from the event. Explanation: C is correct because Daniel is entitled to
seek compensation for any losses directly caused by the supplier’s delay, including loss of profits due
to the late delivery. A is incorrect because rescission is typically available for more fundamental
breaches. B is incorrect because liquidated damages are only enforceable if specified in the contract.
D is incorrect because specific performance is unlikely in cases involving the delivery of goods that
can be replaced. E is incorrect because a reduction in purchase price would not be applicable when
the breach results in significant losses beyond the reduced value of the goods.

Question 86

Correct Answer: A. The court will likely apply the principle of proportionality, assessing whether the
restriction is necessary and balanced against the rights of the food truck operators. Explanation: A is
correct because proportionality is used to determine whether a government action, such as a city
ordinance, is justified by a legitimate public interest and whether it is balanced against individual
rights. B is incorrect because while parliamentary sovereignty applies to legislation, this case involves
a local ordinance. C is incorrect because pre-emption typically applies when local laws conflict with
federal laws, and there is no mention of such conflict here. D is incorrect because the Takings Clause
applies to property rights, not to business restrictions. E is incorrect because strict scrutiny applies to
cases involving fundamental rights, such as free speech, which does not apply in this case.

Question 87

Correct Answer: C. The council could argue that it had taken reasonable steps to ensure safety and
that the playground design was within reasonable expectations. Explanation: C is correct because the
council may argue that it fulfilled its duty by designing and maintaining the playground to reasonable
safety standards. A is incorrect because the council has a duty to ensure safety, regardless of the
child's actions. B is incorrect because the injury was foreseeable given the height of the climbing
frame, which is likely the cause of the accident. D is incorrect because "volenti non fit injuria" applies
to situations where a person knowingly accepts risks, but here Linda did not consent to the danger. E
is incorrect because local government regulations are not always an absolute defense to negligence
claims.

Question 88

Correct Answer: E. The court will apply the concept of quantum meruit, determining that Bob should
be paid for the work completed, regardless of the delay. Explanation: E is correct because even
though Bob failed to meet the deadline, he completed the work as agreed and is entitled to be paid



for the work performed. A is incorrect because frustration typically applies to situations where
performance becomes impossible, not merely delayed. B is incorrect because performance is not the
issue here—delayed performance is. C is incorrect because mitigation relates to reducing damages
after a breach, not to the original agreement. D is incorrect because the delay, in this case, may not
constitute a fundamental breach if the work was completed to the agreed standard.

Question 89

Correct Answer: E. Mediation provides a quicker and less costly alternative to litigation, enabling
both parties to preserve their business relationships. Explanation: E is correct because mediation is
generally faster and less expensive than litigation, and it allows parties to negotiate a mutually
agreeable solution without the need for formal court proceedings. A is incorrect because mediation
results in a non-binding agreement unless both parties agree to it. B is incorrect because while
mediation is confidential, this is not its primary advantage in resolving the dispute. C is incorrect
because mediation does not guarantee compensation, but rather facilitates negotiations. D is
incorrect because mediation is a voluntary process, not one that forces a settlement.

Question 90

Correct Answer: B. The principle of fiduciary duty will apply, and the directors will need to show that
the acquisition was in the best interests of the company and its shareholders as a whole.
Explanation: B is correct because directors have a fiduciary duty to act in the best interests of the
company and its shareholders, and must demonstrate that the acquisition serves those interests. A is
incorrect because majority rule does not automatically override the need to act in the company’s
best interests. C is incorrect because derivative action would apply if the directors were acting
unlawfully or negligently, not simply if Richard disagrees with the business decision. D is incorrect
because shareholders do not generally have veto power over business decisions unless specified in
the company’s articles of association. E is incorrect because the business judgment rule is more
relevant in protecting directors from claims based on the outcomes of their decisions rather than
whether those decisions breach their fiduciary duties.

Question 91

Correct Answer: A. The contractor will argue that the mall management, as the occupier of the
premises, had a greater responsibility to ensure the safety of visitors. Explanation: A is correct
because under the Occupiers' Liability Act, the occupier of the premises (in this case, the mall) has a
duty to ensure that visitors are safe from harm, and the contractor may argue that the management
should have ensured the cables were properly secured. B is incorrect because the injury was
foreseeable, as the exposed cable posed a clear risk. C is incorrect because while John may have
contributed to the injury, the contractor's negligence in leaving the cable exposed is the primary
cause. D is incorrect because statutory authority defense applies when legal requirements for
building work are in question, but the contractor’s negligence in leaving the cable exposed would not
be justified by statutory authority. E is incorrect because the contractor still has a duty to ensure that
their work does not create hazards for the public.



Question 92

Correct Answer: B. Anna can claim for quantum meruit, demanding payment for the photographs
delivered, even though the total number is fewer than agreed upon. Explanation: B is correct
because quantum meruit allows a party to claim payment for work done, even if the full contract
terms are not met. This principle is often applied when performance has been partially completed. A
is incorrect because specific performance is typically not available for personal services contracts
such as photography. Cis incorrect because Anna’s failure to deliver the full number of photographs
would likely constitute a partial breach, preventing her from claiming the full contract price. D is
incorrect because damages can only be claimed when actual losses are proven, and it is unlikely that
the partial completion of the work caused a quantifiable loss. E is incorrect because a partial breach
does not necessarily excuse the party from receiving payment for the work performed.

Question 93

Correct Answer: A. Harry should raise his concerns with Lisa and request that they appoint a neutral
arbitrator to ensure fairness in the process. Explanation: A is correct because Harry is entitled to ask
for a neutral arbitrator if he believes the current arbitrator may be biased. This ensures the
arbitration process remains impartial. B is incorrect because Harry should not accept the arbitrator’s
decision if there are concerns about bias. C is incorrect because challenging the validity of the
arbitration agreement may not be the most appropriate action at this stage. D is incorrect because
mediation is not always an alternative to arbitration, especially if both parties agreed to arbitration. E
is incorrect because simply requesting a conflict of interest disclosure may not be enough to address
the concerns about bias.

Question 94

Correct Answer: B. The business owners will argue that the law is ultra vires, meaning that it exceeds
the legal powers of the government to impose such regulations. Explanation: B is correct because
ultra vires is a common ground for challenging laws that exceed the powers granted by statute or the
constitution. A is incorrect because proportionality generally applies in cases involving human rights
law rather than business regulations. C is incorrect because the law does not directly interfere with
property rights in the way that would breach the European Convention. D is incorrect because
parliamentary sovereignty allows Parliament to pass laws within its legal authority. E is incorrect
because there is no evidence to suggest the law is discriminatory in this case.

Question 95

Correct Answer: B. The hospital will argue that Mary gave informed consent to the procedure, which
included a clear understanding of the risks involved. Explanation: B is correct because informed
consent is a defense against medical negligence claims if the risks of the procedure were properly
explained to the patient and they agreed to proceed with full knowledge. A is incorrect because the
complication was foreseeable, even if rare. Cis incorrect because the hospital cannot argue that the
complication was a "side effect" without evidence of negligence. D is incorrect because this would
only be valid if the hospital could prove that the procedure was flawless, which is not the case here.
E is incorrect unless there is evidence that Mary failed to disclose relevant medical history.



Question 96

Correct Answer: B. Helen can sue Tom for breach of contract, claiming that he violated the express
terms of the agreement by discounting her artwork. Explanation: B is correct because Tom’s actions
directly breach the contract’s terms, which require that sales occur at the agreed price without
discounts. A is incorrect because rescinding the contract would typically apply if there were a mutual
agreement to end the contract, not simply a breach of its terms. C is incorrect because unjust
enrichment would not apply in this situation unless Tom had gained a benefit at Helen’s expense
beyond the agreed commission. D is incorrect because specific performance is not typically sought in
cases involving money or non-unique goods. E is incorrect because damages for reputational harm
would require evidence that the discounting caused measurable harm to Helen’s reputation.

Question 97

Correct Answer: A. Mediation is less formal than arbitration and allows the parties to retain more
control over the outcome, while arbitration results in a binding decision made by a third-party
arbitrator. Explanation: A is correct because mediation is informal and allows both parties to
negotiate and agree to a resolution, which is not binding unless formalized, while arbitration involves
a third-party arbitrator who issues a binding ruling. B is incorrect because mediation is not legally
binding unless the parties agree to the terms. C is incorrect because arbitration is generally more
formal and can take longer than mediation. D is incorrect because both processes can involve
experts, but arbitration results in a decision rather than a negotiation. E is incorrect because
arbitration results in a binding decision, while mediation results in an agreement only if both parties
agree.

Question 98

Correct Answer: C. Sarah should inform the court about the false information, even though it harms
her client’s case, as her duty to the court outweighs her duty to the client. Explanation: C is correct
because solicitors have a duty to act with integrity and honesty in all their dealings, particularly in
relation to the court. A is incorrect because keeping the information confidential would involve
misleading the court, which violates ethical standards. B is incorrect because withdrawal from the
case is not necessary unless Sarah can no longer represent the client fairly or competently. D is
incorrect because advising a client to amend their statement to the court without disclosure would
still constitute a breach of ethical obligations. E is incorrect as seeking guidance from the SRA is a last
resort after careful consideration of ethical rules.

Question 99

Correct Answer: D. Liam should raise concerns about Margaret’s mental capacity and advise her to
seek medical confirmation of her ability to make a will before proceeding. Explanation: D is correct
because a solicitor must ensure that the client has mental capacity to make a will. If there are
concerns about the client's ability to understand the implications of their decision, a medical opinion
should be sought. A is incorrect because proceeding without verifying mental capacity could expose
Liam to professional and legal risks. B is incorrect because there is no obligation to delay, but



ensuring mental capacity is more important than the client’s current health. Cis incorrect because
while Liam can suggest, he must respect Margaret’s wishes and ensure that she understands the
consequences. E is incorrect because Liam'’s professional responsibility requires due diligence in
assessing mental capacity.

Question 100

Correct Answer: A. Jenny should consider whether the penalty is a genuine pre-estimate of the loss
that would result from the delay, and whether it is enforceable under contract law. Explanation: A is
correct because penalty clauses are only enforceable if they represent a genuine pre-estimate of
loss. If the penalty is deemed excessive or punitive, it may be unenforceable under contract law. B is
incorrect because the enforceability of the penalty clause is crucial to this decision, not just the
breach of contract. Cis incorrect because force majeure clauses, if applicable, would only affect the
penalty clause if they were included in the contract. D is incorrect because enforcing the penalty
clause is appropriate if it is enforceable, rather than seeking damages separately. E is incorrect
because the enforceability of the penalty clause does not depend on the mutual good faith of both
parties unless there are issues with its fairness.

Question 101

Correct Answer: A. Jane must prove that the supermarket owed her a duty of care, breached that
duty, and that the breach directly caused her injury. Explanation: A is correct because in a negligence
claim, the claimant must establish that there was a duty of care, a breach of that duty, and that the
breach caused the harm. B is incorrect because failing to place signs is not enough to prove
negligence without showing that the supermarket’s actions directly caused the injury. Cis incorrect
because insurance issues are irrelevant to the core negligence claim. D is incorrect because it is not
necessary to prove intent in a negligence case, just a failure to act reasonably. E is incorrect because,
while foreseeability is important, the primary focus is on whether the breach of duty caused the
injury.

Question 102

Correct Answer: A. Emma must prove that David was driving carelessly, that she suffered injuries,
and that David's negligence directly caused the accident. Explanation: A is correct because, to
succeed in a personal injury claim based on negligence, Emma must prove that David owed her a
duty of care, breached that duty by driving carelessly (running the red light), and that the breach
directly caused her injuries. B is incorrect because speeding is not necessary to establish negligence
in this scenario, as the core issue is David running the red light. C is incorrect because negligence
does not require proof of intent; it is based on whether the defendant’s actions were unreasonable
and caused harm. D is incorrect because a pattern of behaviour is not necessary to prove negligence
in this case, though it could be relevant to show that David had a history of risky driving. E is
incorrect because contributory negligence is not the issue here; Emma needs to prove David’s
negligence, not her own lack of fault.

Question 103



Correct Answer: C. Janet is entitled to claim damages for any additional costs incurred due to the
delay but cannot demand a refund unless explicitly stated in the contract. Explanation: Cis correct
because, in this situation, the delay likely constitutes a breach of contract, entitling Janet to claim
damages for any additional costs resulting from the delay. However, unless the contract specifies a
refund clause for delays, Janet cannot demand a refund. A is incorrect because termination of the
contract is not necessary unless the delay is substantial and the contract allows for it. B is incorrect
because a reduction in payment is not the only remedy available; Janet can also seek damages for
the delay. D is incorrect because withholding full payment may not be justified unless the delay is
substantial enough to constitute a fundamental breach. E is incorrect because the delay appears to
be a significant issue and not an immaterial breach.

Question 104

Correct Answer: A. Sophie should ask Robert for advice, as it is common for colleagues to assist each
other in similar cases, as long as there is no conflict of interest. Explanation: A is correct because
solicitors often consult colleagues for advice and guidance, especially in areas where they may lack
experience. This is common practice, provided there is no conflict of interest. B is incorrect because
seeking advice from a colleague does not necessarily breach confidentiality if the colleague is not
involved in the case. Cis incorrect because asking for advice is appropriate regardless of whether
Robert has personal involvement in Peter's case, as long as there is no conflict of interest. D is
incorrect because informing the client about seeking advice from a colleague is not mandatory
unless it directly impacts the case or the client’s interests. E is incorrect because solicitors are
encouraged to seek guidance from colleagues when needed to provide the best possible service to
their clients.

Question 105

Correct Answer: A. Michael should consider whether there was an error in the way the decision was
made, such as a breach of natural justice or procedural fairness. Explanation: A is correct because
judicial review is available if there was a procedural error, such as a breach of natural justice or
failure to follow proper procedures. B is incorrect because judicial review can also be based on
fairness and reasonableness, not just specific legal violations. C is incorrect because reasonableness
alone is not enough; the focus should be on procedural fairness and whether the decision-making
process was correct. D is incorrect because judicial review can be based on more than just an
incorrect interpretation of the law; it also includes procedural fairness and adherence to legal
principles. E is incorrect because while human rights violations can form a ground for judicial review,
it is not the sole ground for challenging an administrative decision.

Question 106

Correct Answer: A. Olivia must prove that the mall owed her a duty of care, breached that duty by
failing to repair the cracked glass, and that this breach caused her injury. Explanation: A is correct
because, to succeed in a negligence claim, Olivia must establish that the mall owed her a duty of
care, breached that duty (by failing to repair the cracked glass), and that the breach caused her
injury. B is incorrect because negligence does not require proof of intentional wrongdoing, only that
the defendant's actions were careless. C is incorrect because Olivia only needs to prove that the mall



had responsibility for maintaining the glass panel that caused her injury. D is incorrect because a
negligence claim does not require a contractual relationship. E is incorrect because while the crack
caused the injury, Olivia does not need to prove it was the only possible cause; she must show that
the breach of duty was a significant contributing factor.

Question 107

Correct Answer: C. Emma must prove that David failed to deliver the correct materials as specified in
the contract, and that Emma suffered a financial loss as a direct result of the breach. Explanation: C is
correct because, in a breach of contract claim, Emma must prove that David failed to deliver the
materials as agreed and that the breach directly caused her financial loss (e.g., inability to produce
and sell jewellery). A is incorrect because proving deliberate breach is not necessary in contract law;
it is enough to show that there was a failure to meet the terms of the contract. B is incorrect because
the breach does not need to be substantial in a way that changes the entire contract, as long as it
causes harm. D is incorrect because there is no specific requirement for Emma to notify David within
24 hours; she must simply show that the breach occurred and caused harm. E is incorrect because a
breach of contract does not require proof of intent to cause harm; it is a failure to meet contractual
obligations.

Question 108

Correct Answer: A. Jonathan must prove that the agency’s decision was illegal, irrational, or made in
bad faith, and that it resulted in an unfair disadvantage to him based on his age. Explanation: A is
correct because, in a judicial review claim, Jonathan must show that the decision was illegal (e.g., it
violated equality laws), irrational, or made in bad faith, and that it directly disadvantaged him based
on his age. B is incorrect because while specific statutory violations can be grounds for judicial
review, Jonathan can challenge the decision on the basis of its unfairness or irrationality without
needing to cite a specific statute. C is incorrect because failing to consult Jonathan is not a
requirement for judicial review; the focus is on the fairness and legality of the decision. D is incorrect
because judicial review is about the decision-making process, not the intention behind it. E is
incorrect because human rights violations are just one possible ground, but judicial review can be
based on procedural or substantive unfairness or illegality.

Question 109

Correct Answer: C. Samuel must prove that the delay was a breach of the contract terms and that it
caused him financial loss, including any costs resulting from the delay. Explanation: C is correct
because to claim damages for a delay, Samuel must prove that Alex breached the contract by not
completing the work on time and that this breach caused financial loss. A is incorrect because the
intentionality of the delay is not necessary; a delay itself can be a breach. B is incorrect because an
unforeseeable event like an act of God is a valid defense to a breach of contract, but Samuel does not
need to prove this to claim damages. D is incorrect because failure to pay is not the issue here; the
focus is on the delay caused by Alex. E is incorrect because intentional delay is not required to
establish a breach of contract.



Question 110

Correct Answer: A. Liam must prove that the council had a duty of care towards pedestrians, that it
breached this duty by failing to repair the paving stone, and that this breach directly caused his
injury. Explanation: A is correct because, in a negligence claim, Liam must show that the council
owed him a duty of care (to maintain safe public spaces), breached that duty (by not repairing the
paving stone), and caused his injury. B is incorrect because negligence does not require intentional
harm, only failure to take reasonable steps to prevent harm. C is incorrect because while knowledge
of the defect is important, the council does not have a strict 24-hour repair requirement. D is
incorrect because while the paving stone caused the injury, other factors may also have contributed,
but the focus is on the council's breach of duty. E is incorrect because the council’s failure to repair
the paving stone is sufficient; a separate duty to warn pedestrians is not necessary in this case.

Question 111

Correct Answer: A. Amelia must prove that the council's decision was unlawful, unreasonable, or
procedurally improper, and that it caused her significant financial loss. Explanation: A is correct
because, in judicial review, Amelia must show that the decision was either unlawful (e.g., made
without authority), unreasonable (e.g., disproportionate or irrational), or procedurally improper
(e.g., failure to follow the proper process), and that she suffered harm as a result. B is incorrect
because the focus of judicial review is on the legality and fairness of the decision, not on the general
right to operate a business. C is incorrect because acting beyond powers (ultra vires) is a specific
ground, but it is not the only basis for judicial review. D is incorrect because judicial review does not
require proof of discriminatory intent; it is about the legality of the decision-making process. E is
incorrect because judicial review does not require a violation of constitutional rights; it applies to
various legal grounds such as unlawfulness, unreasonableness, and procedural error.

Question 112

Correct Answer: A. Alice should check if the termination clause is enforceable, as it may allow Ben to
end the contract early, depending on the terms. Explanation: A is correct because the validity of the
termination clause depends on its specific terms. If it allows Ben to terminate early for specific
reasons, Alice may not have grounds to challenge it. B is incorrect because fixed-term leases can
include clauses allowing early termination, so Ben may have the right to terminate under certain
conditions. C is incorrect because negotiating with Ben may be an option, but it does not address the
legal enforceability of the termination clause. D is incorrect because fixed-term contracts can be
terminated early if the agreement allows for it, so Alice cannot automatically claim damages. E is
incorrect because there is no implied term requiring rent reduction unless the contract specifically
includes such a provision.

Question 113

Correct Answer: A. Rachel must establish that John was negligent by running the red light, and that
his negligence directly caused her injuries. Explanation: A is correct because to recover damages,
Rachel must prove that John’s negligence (running the red light) directly caused her injuries. B is
incorrect because negligence does not require recklessness, only carelessness or failure to exercise



reasonable care. Cis incorrect because Rachel does not need to prove the insurance limits to recover
damages, though those limits may affect the total amount she can claim. D is incorrect because
Rachel does not need to prove intent in a negligence claim; negligence can be established without
intentional harm. E is incorrect because contributory negligence could reduce the damages she can
claim, but it does not bar recovery if she was not at fault.

Question 114

Correct Answer: A. Emily should claim breach of contract because Sam'’s failure to deliver the widgets
constitutes a repudiatory breach, entitling her to terminate the contract and claim damages.
Explanation: A is correct because Sam'’s failure to deliver the widgets constitutes a material breach of
the contract. Since Sam refused to honour the agreed terms, Emily is entitled to terminate the
contract and claim damages. B is incorrect because Emily is not obligated to accept a new price
unless the contract allows for renegotiation. C is incorrect because specific performance is unlikely to
be granted in a contract for goods, where damages are an adequate remedy. D is incorrect because
the focus is on the breach itself rather than proving the original price was reasonable; Emily can
claim damages for the breach without proving significant financial loss. E is incorrect because
negotiating with Sam does not address the breach and Emily’s legal right to claim damages.

Question 115

Correct Answer: A. Sarah can argue that the shopping mall owes a duty of care to its visitors to
ensure their safety, and that the mall’s failure to ensure proper warnings regarding the wet floor
constitutes negligence. Explanation: A is correct because the shopping mall has a general duty of care
to ensure that its premises are safe for visitors. The lack of a warning sign about the wet floor could
be considered a breach of that duty, making the mall liable for the injury. B is incorrect because the
café is a separate entity, and the mall may still be liable if it failed in its duty to maintain a safe
environment. C is incorrect because vicarious liability does not apply in this case, as the café’s staff
are not employees of the mall. D is incorrect because a breach of statutory duty is not automatically
established, though health and safety laws may play a role in determining negligence. E is incorrect
because while contributory negligence could reduce the mall’s liability, it would not absolve them of
responsibility for failing to take reasonable safety measures.

Question 116

Correct Answer: A. James can challenge the dismissal on the grounds of procedural unfairness,
arguing that he was denied a fair hearing and the opportunity to respond to the allegations against
him. Explanation: A is correct because procedural fairness is a fundamental principle in
administrative law, and James may be entitled to challenge the dismissal if he was not given a fair
opportunity to respond to the allegations against him. B is incorrect because public sector employees
can be dismissed for misconduct, provided the correct procedures are followed. C is incorrect
because there is no absolute constitutional right to work, and this claim would not likely succeed in a
judicial review. D is incorrect because judicial review does not typically address the proportionality of
the punishment itself but focuses on whether the correct procedures were followed. E is incorrect
because while bias may form the basis of a judicial review challenge, the primary ground here is
procedural unfairness.



Question 117

Correct Answer: A. The court will consider whether the technical issues faced by Fiona were
unforeseeable and beyond her control, as well as whether the force majeure clause was properly
triggered under the terms of the contract. Explanation: A is correct because the court will first assess
whether the event that caused the delay qualifies as a force majeure event under the contract’s
terms and whether it was beyond Fiona’s control. B is incorrect because force majeure clauses can
excuse failure to perform due to unforeseen circumstances, even if negligence is involved, if the
clause specifically covers such events. Cis incorrect because the focus is on Fiona’s ability to rely on
the clause, not Frank’s actions, unless Frank’s conduct directly caused the delay. D is incorrect
because while mitigation is a consideration, it is not always a factor in determining whether force
majeure applies; it would depend on the specific contract terms. E is incorrect because the force
majeure clause could excuse Fiona’s delay even if the software was not delivered on time, depending
on the circumstances outlined in the clause.

Question 118

Correct Answer: A. TechGears can seek to terminate the contract for breach and claim damages for
any financial losses caused by SoftTech Ltd.’s failure to perform its obligations under the contract.
Explanation: Ais correct because when a party breaches a contract, the other party may be entitled
to terminate the contract and claim damages for any losses incurred due to the breach. B is incorrect
because renegotiation is a voluntary step, and TechGears has the right to terminate the contract if
there is a material breach. Cis incorrect because specific performance is not usually granted in cases
involving the supply of goods or services, where damages are typically sufficient. D is incorrect
because injunctions are not typically used to compel the performance of contractual obligations in
this case. E is incorrect because TechGears does not need to prove negligence to claim damages; they
can claim damages based on the breach of the contract itself.

Question 119

Correct Answer: A. Amanda must prove that Peter owed her a duty of care, that he breached that
duty, and that the breach caused the damage to her property. Explanation: A is correct because to
establish negligence, Amanda must show that Peter owed her a duty of care (as a contractor), that
he breached that duty (e.g., by failing to properly repair the roof), and that the breach caused the
damage to her property. B is incorrect because negligence does not require recklessness or
intentional action. C is incorrect because prior experience is not necessary for establishing
negligence; it’s the quality of the work that matters. D is incorrect because awareness of potential
leakage is not required to prove negligence, although it might help. E is incorrect because the claim
focuses on Peter’s actions or omissions during the repair, not the condition of his tools.

Question 120

Correct Answer: B. Sarah should withdraw from the case if she believes that continuing to represent
the client would compromise her professional integrity or lead to involvement in unethical conduct.
Explanation: B is correct because solicitors are bound by ethical rules that require them to actin a



way that maintains their professional integrity. If Sarah believes that continuing to represent the
client would compromise her ability to act ethically, she should withdraw from the case. A is
incorrect because, while Sarah has a duty to represent her client, this duty is not absolute if it
involves unethical conduct. Cis incorrect because reporting a client’s behaviour to the authorities
would typically only occur in extreme circumstances where the solicitor’s professional conduct is
directly impacted, and is not an automatic course of action. D is incorrect because while impartial
advice is important, Sarah’s ethical duty is broader, including the obligation to avoid involvement in
unethical conduct. E is incorrect because Sarah should not proceed with a case if she believes it
involves unethical behaviour, even if she is not personally involved.

Question 121

Correct Answer: A. Mark should ask Laura to provide information about the source of the funds and
consider whether the payment raises any concerns under anti-money laundering regulations.

Explanation: A is correct because solicitors have an obligation to comply with anti-money laundering
regulations, which require them to verify the source of funds and ensure that payments are not
derived from illegal activities. B is incorrect because it is not illegal for solicitors to accept cash
payments, but they must comply with the proper procedures. Cis incorrect because written
confirmation from Laura is not sufficient to fulfil the anti-money laundering requirements. D is
incorrect because reporting to the FCA is not required in all cases; Mark should follow internal
procedures to assess the situation. E is incorrect because accepting cash payments without
considering the source is not compliant with legal and regulatory obligations.

Question 122

Correct Answer: A. The court will assess whether the law serves a legitimate governmental interest,
such as national security, and whether the intrusion on personal freedoms is proportionate to the
objective of the law.

Explanation: A is correct because constitutional review involves balancing the government's interests
with the rights of individuals. The law's justification for data collection, such as national security,
must outweigh the invasion of privacy. B is incorrect because, while international treaties may be
considered, the primary focus is on the national constitution. Cis incorrect because while procedural
correctness is important, the substantive issue is the law's impact on rights. D is incorrect because
the court will likely consider both current and future implications. E is incorrect because public
acceptance or social norms are not the primary factors in constitutional review.

Question 123

Correct Answer: A. Maria should expect a neutral third party, the mediator, to facilitate discussions
between her and Tom, helping them reach a mutually acceptable resolution without making a
binding decision.

Explanation: A is correct because mediation involves a neutral third-party mediator who facilitates
negotiation and helps parties reach an agreement. The mediator does not make binding decisions,
unlike arbitration. B is incorrect because mediation is not a decision-making process; it is a



negotiation process. C is incorrect because mediation is informal, with flexible procedures compared
to a court trial. D is incorrect because mediators do not provide legal advice; they only help facilitate
discussion. E is incorrect because the mediator does not determine legal ownership; the parties
negotiate an agreement themselves.

Question 124

Correct Answer: A. ABC Ltd. can seek damages for the additional costs incurred due to the delay and
may also consider terminating the contract for breach if the delay is substantial.

Explanation: A is correct because ABC Ltd. is entitled to seek damages for the additional costs caused
by the delay, and depending on the severity of the delay, they may have the right to terminate the
contract for breach. B is incorrect because ABC Ltd. is not required to accept the delay and can
pursue legal action if it is a breach of contract. Cis incorrect because while ABC Ltd. may request an
extension, they still have the right to claim damages. D is incorrect because the issue is not minor
and may involve a breach of contract that warrants legal recourse. E is incorrect because the delay
may not automatically be considered a fundamental breach unless it is severe enough to go to the
root of the contract.

Question 125

Correct Answer: A. Jack must prove that the mall owners owed him a duty of care, that they
breached that duty by failing to maintain a safe environment, and that the breach caused his injury.

Explanation: A is correct because negligence requires the claimant to prove that the defendant owed
them a duty of care, breached that duty, and caused harm as a result. B is incorrect because
negligence does not require intentional actions; it requires carelessness or failure to act responsibly.
Cisincorrect because while warning signs are important, the core issue is the duty of care and the
breach that led to the injury. D is incorrect because while cleaning the floor is relevant, it is not
necessary to prove direct responsibility for cleaning to establish negligence. E is incorrect because
negligence does not require recklessness; it requires a failure to meet the standard of care.

Question 126

Correct Answer: A. Olivia is facing a conflict between her professional duty to act in the public
interest and the interests of her firm and client. She must disclose the potential fraud, even if it risks
losing the client or damaging her firm’s reputation.

Explanation: A is correct because Olivia has an ethical duty to uphold the law and act in the public
interest, which includes disclosing fraud. This takes precedence over her firm's and client’s interests.
B is incorrect because it overlooks Olivia’s ethical obligation to report irregularities and act with
integrity. C is unethical and could lead to severe consequences for Olivia, as it involves aiding in
illegal activities. D is an appropriate alternative, as Olivia could attempt to address the issue within
her firm before taking further steps. E is overly drastic; Olivia should first attempt to resolve the issue
professionally within the firm.



Question 127

Correct Answer: A. Michael should explain the likely duration of the litigation process, the potential
costs involved, and the risk of an adverse decision. He should also discuss alternative methods of
dispute resolution, such as settlement, to minimize financial exposure.

Explanation: A is correct because it is Michael’s professional duty to manage his client’s expectations
by explaining the potential risks, costs, and duration of litigation, as well as exploring other dispute
resolution options. B is incorrect because it is Michael’s responsibility to keep his client informed
about the process and its implications. C is incorrect because pursuing litigation without fully
informing the client is negligent and does not consider cost-effectiveness. D is incorrect because
Michael has an ethical duty to provide competent representation in all matters. E is unethical, as it
involves withholding important information and undermining the client’s ability to make an informed
decision.

Question 128

Correct Answer: A. Sarah should consider the impact of each financing option on the company’s
control structure, cost of capital, and ability to repay any debt. She should also assess the risks
involved with each option, such as the potential dilution of shareholder value or the implications of
taking on additional liabilities.

Explanation: A is correct because Sarah should consider all aspects of each financing option,
including control, cost, repayment ability, and risks such as dilution or liability. B is incorrect because
financial decisions must consider both cost and long-term strategic goals. C is incorrect because
quick capital injection should not come at the expense of long-term stability or strategic fit. D is
incorrect because issuing shares may lead to dilution of control and is not always the least risky
option. E is incorrect because loans involve repayment obligations and risk, even if the company’s
credit rating is strong.

Question 129

Correct Answer: A. Caroline must prove that the local council owed a duty of care to pedestrians,
that they breached this duty by failing to maintain the footpath, and that this breach directly caused
her injury.

Explanation: A is correct because negligence claims require the claimant to prove the existence of a
duty of care, the breach of that duty, and a direct causal link to the injury. B is incorrect because
negligence does not require intentional harm, only carelessness. C is incorrect because while prior
notification is relevant, it is not the sole requirement; Caroline must prove the breach caused her
injury. D is incorrect because recklessness is not required to prove negligence. E is incorrect because
establishing a duty of care is a fundamental part of a negligence claim.

Question 130

Correct Answer: A. David should consider whether the failure to deliver on time was a fundamental
breach of the contract, which would allow him to terminate, or whether it was a minor breach, in



which case he may only be entitled to damages. He should also assess whether the delay has caused
significant harm to his business operations.

Explanation: A is correct because it covers all aspects of the issue: the importance of assessing the
breach's significance (fundamental vs. minor) and the potential harm caused by the delay. B is
incorrect because not all delays are fundamental breaches, and termination is not always the right
remedy for a minor breach. Cis incorrect because terminating the contract is an option only in the
case of a fundamental breach, and damages may also be a remedy for a minor breach. D is incorrect
because renegotiation might not be an appropriate response to a substantial breach. E is incorrect
because while seeking legal counsel may be useful, David’s own assessment is a critical part of
determining the correct course of action.

Question 131

Correct Answer: A. Maria must act in the best interests of her client, which includes advising the
client to disclose all relevant facts, even if they are damaging to their case, as failing to do so could
result in legal consequences such as perjury or contempt of court.

Explanation: A is correct because Maria has an ethical duty to ensure that all relevant facts are
disclosed to the court, and failing to do so could result in serious legal consequences for both the
client and herself. B is incorrect because it disregards Maria’s professional responsibility to the court
and her duty to act in accordance with the law. Cis incorrect because excluding material evidence is
unethical and could have serious legal repercussions. D is incorrect because Maria is bound by her
client’s instructions but also has an obligation to maintain her professional integrity and comply with
the law. E is incorrect because ignoring relevant facts or dismissing the case on procedural grounds
would not be appropriate if these facts have legal implications.

Question 132

Correct Answer: A. Peter should consider the complexity and cost of both options, the likelihood of a
favourable outcome, the potential impact on the client’s business reputation, and whether the
parties are likely to cooperate in an ADR process like arbitration.

Explanation: A is correct because Peter must assess all relevant factors, including the complexity,
cost, and likelihood of success in both litigation and arbitration, and the potential benefits such as
confidentiality. B is incorrect because cost is not the only factor to consider, and a more expensive
process may ultimately be more beneficial. Cis incorrect because litigation is not always the best
route, especially when the parties have already attempted negotiation and mediation. D is incorrect
because arbitration may not always be the best option depending on the specifics of the case and
the parties’ willingness to cooperate. E is incorrect because arbitration can be an effective method of
resolving disputes, even in complex cases.

Question 133

Correct Answer: A. Jane must prove that the contractor owed her a duty of care, that the contractor
breached that duty by using faulty equipment, and that the breach caused her property damage.



Explanation: A is correct because it outlines the three essential elements of a negligence claim: duty
of care, breach, and causation. B is incorrect because negligence does not require intent to cause
harm, only carelessness or failure to act reasonably. Cis incorrect because financial loss without
physical damage may not constitute a valid negligence claim in this case. D is incorrect because
damage must be a result of the breach of duty for a negligence claim to succeed. E is incorrect
because property damage is the issue at hand, not personal injury, and the claim must prove
causation related to the damage to the property.

Question 134

Correct Answer: A. Laura should assess the terms of the contract, particularly the long-term
commitment, and consider whether the price and the supply conditions are favourable. She should
also negotiate for an exit clause or a break clause that allows her to terminate the agreement if her
business needs change.

Explanation: A is correct because Laura must carefully evaluate the risks and benefits of entering into
a long-term contract, particularly the impact of a fixed supply and price over an extended period.
Negotiating an exit or break clause provides flexibility and protection in case circumstances change. B
is incorrect because it is essential to protect her business interests by ensuring that the terms of the
contract are favourable and flexible. C is incorrect because securing a personal guarantee from the
supplier may not be necessary, and Laura should focus more on the contract's terms rather than
personal guarantees. D is incorrect because it’s not advisable to ignore the supplier’s conditions or to
focus only on negotiating a shorter term. E is incorrect because rejecting the contract without
negotiation may mean losing a beneficial opportunity, especially if the supplier is offering a good
price.

Question 135

Correct Answer: B. Samantha should disclose the information to her supervisor and seek guidance
before making any decisions. She must balance her duty to the individual client with the potential
impact on the firm’s interests.

Explanation: B is correct because Samantha has an ethical duty to consider both her professional
obligations to her individual client and the potential conflict of interest that arises from the
information she has uncovered. She should consult her supervisor to ensure she handles the matter
appropriately. A is incorrect because while Samantha has a duty to her client, she must also consider
professional conduct rules and firm policies. C is incorrect because disregarding relevant information
could constitute misconduct and failure to act in the best interests of the client. D is incorrect
because Samantha must follow ethical guidelines within the firm and should not act unilaterally. E is
incorrect because suppressing the information is unethical and could lead to serious professional
consequences.

Question 136

Correct Answer: A. Rachel must prove that the company owed her a duty of care, that the truck
driver breached that duty by double-parking and mounting the curb, and that the breach directly
caused her injury. The company may raise the defense of contributory negligence, arguing that
Rachel was not paying attention and may have been partly responsible for the accident.



Explanation: A is correct because Rachel must prove the three essential elements of a negligence
claim: duty of care, breach, and causation. The company may raise contributory negligence, claiming
that Rachel’s actions (e.g., being distracted while walking) contributed to the accident. B is incorrect
because negligence, not intent, is the central issue in this case. C is incorrect because Rachel does
not need to prove improper training or a malfunction in this case. D is incorrect because assumption
of risk is not a valid defense, and the company remains responsible for the driver’s negligence. E is
incorrect because proving a specific regulation violation is not necessary in negligence claims,
although it may support the case.

Question 137

Correct Answer: A. James should assess whether the price increase is reasonable given market
conditions. He may also look for an opportunity to renegotiate the terms of the contract and include
an adjustment clause to avoid further disruptions.

Explanation: A is correct because James should evaluate whether the supplier’s price increase is
justified by the market conditions and should explore renegotiating the terms to protect his business
interests. B is incorrect because James should not automatically agree to any price change,
particularly if it harms his business. C is incorrect because price increases alone do not automatically
constitute a breach of contract unless the contract expressly prohibits modifications. D is incorrect
because price increases can be acceptable in certain circumstances, and outright refusal may not be
the best course of action. E is incorrect because mediation may not be necessary unless a dispute
arises, and James should first seek to negotiate directly with the supplier.

Question 138

Correct Answer: B. Samantha should still consider the case as persuasive authority, as the reasoning
and legal principles established in the case may still be relevant despite the court’s abolition.

Explanation: B is correct because, even if the court no longer exists, the decision made in the case
may still be persuasive and relevant, especially if the legal principles are still considered valid by
higher courts. A is incorrect because the fact that the court has been abolished does not
automatically render its decisions irrelevant. C is not necessary unless there are specific concerns
about the applicability of the case, but B is more comprehensive. D is incorrect because past
decisions can still hold persuasive weight, especially if they were made by a court of equal or higher
authority at the time. E is also valid but focuses on a secondary issue; B provides a broader and more
immediate answer.

Question 139

Correct Answer: A. Emily must prove that the store owed her a duty of care, that the store breached
that duty by failing to address the spill in a timely manner, and that the breach directly caused her
injury. The store may argue that it took reasonable precautions and that the spill was not present
long enough to be noticed.

Explanation: A is correct because Emily must demonstrate the standard elements of a negligence
claim: duty of care, breach, and causation. The store may argue that it had a reasonable system in



place but was unable to address the hazard immediately due to the nature of the situation. B is
incorrect because negligence is a more applicable claim here, and intent is not relevant. C is incorrect
because statutory duties are not the central issue in this case, and industry guidelines do not
necessarily absolve the store of negligence. D is incorrect because, while time may be a factor, the
store still has a duty to act reasonably in preventing hazards. E is incorrect because Emily does not
need to prove that the store created the condition intentionally but must show negligence.

Question 140

Correct Answer: A. Benjamin may raise the defense of force majeure, arguing that the delays were
caused by external factors that were unforeseeable and beyond his control. Sarah should consider
whether the contract includes a force majeure clause and whether the delays are justifiable under
the circumstances.

Explanation: A is correct because force majeure clauses are commonly included in contracts to
excuse performance delays caused by unforeseeable events beyond the control of the contracting
party. B is incorrect because the impact of the delay should be assessed in light of the overall
contract and whether it materially affects the purpose. C is incorrect because Sarah’s failure to
provide instructions is not directly relevant unless it specifically caused the delay. D is incorrect
because subcontractors’ failures typically fall under the responsibility of the contractor, and
Benjamin should be held accountable unless he can prove that the failure was unavoidable. E is
incorrect because waiver requires explicit acceptance or knowledge of the delay, which needs to be
carefully assessed before concluding.

Question 141

Correct Answer: A. Anna should immediately inform her supervising partner about the undisclosed
information, as failing to disclose such facts could be considered unethical and may harm the client's
case. She should also ensure that her client is aware of the potential impact this history may have on
the current dispute.

Explanation: A is correct because Anna has a professional duty to maintain transparency, and failing
to disclose relevant information can lead to ethical violations, such as misleading the court or
opposing parties. B is not the best option, as confronting the client before consulting with her
supervising partner may not be the most prudent step. C is incorrect because withholding this
information could undermine the integrity of the legal process. D is partly correct but lacks the
immediate step of informing the supervising partner. E is unnecessary, as Anna should first address
the matter with her supervising partner, not an ethics board.

Question 142

Correct Answer: A. John must prove that the council owed him a duty of care, that the council
breached that duty by failing to maintain the footpath to a reasonable standard, and that the breach
directly caused his injury. The council may defend itself by showing that it followed a reasonable
maintenance schedule and that the paving stone’s disrepair was not foreseeable.



Explanation: A is correct because in a negligence claim, the claimant must show that the defendant
owed them a duty, breached that duty, and caused the injury. The council’s defense about regular
inspections is plausible, but it does not absolve them if they failed to address a known risk. B is
incorrect because strict liability does not typically apply to premises liability in public spaces. Cis
partially correct but does not encompass the broader elements of negligence. D is incorrect because
there is no need to prove intentional harm for negligence claims. E is partially correct but ignores the
council’s duty to maintain safe conditions.

Question 143

Correct Answer: A. Thomas should carefully consider his client’s preferences and the nature of the
dispute, explaining that arbitration offers a more streamlined process, confidentiality, and possibly a
quicker resolution. However, he should also caution that arbitration can limit the ability to appeal
and may result in a final decision that cannot be reviewed by a court.

Explanation: A is correct because Thomas must weigh the advantages and disadvantages of
arbitration in the context of the client’s goals. Arbitration can be quicker and more cost-effective, but
its finality may limit options for appealing a decision. B is incorrect because it disregards the potential
advantages of arbitration and focuses solely on litigation. C is incorrect because it is not advisable to
force clients into arbitration without considering their interests. D is incorrect because hybrid
approaches are uncommon and often require specific legal frameworks. E is incorrect because
settlement negotiations are an entirely separate process and do not involve dispute resolution
methods like arbitration or litigation.

Question 144

Correct Answer: A. Lucy should review the terms of the contract and assess whether there are any
force majeure clauses or provisions for exceptional circumstances like health issues. If such a clause
exists, she may be able to use it to excuse her delay. If no such clause exists, she should attempt to
negotiate a new deadline with the client, making clear the circumstances and offering a reasonable
solution.

Explanation: A is correct because Lucy should first examine her contractual rights and obligations,
specifically looking for any clauses that could justify an extension due to unforeseen circumstances
like health issues. If the contract does not allow for such exceptions, negotiating with the client is the
best course of action. B is incorrect as assuming the client’s leniency without discussing the issue
may lead to misunderstanding or legal action. C is not ideal because reducing the penalty unilaterally
could signal to the client that Lucy is not confident in her ability to fulfil the contract. D is an overly
cautious approach that fails to consider all legal options. E is extreme and unnecessary unless the
contract's terms are unworkable, as renegotiation may provide a better outcome.

Question 145

Correct Answer: A. Daniel should consider the right to privacy as a fundamental constitutional right,
ensuring that it is protected from unreasonable government interference. The court will assess
whether the legislation is proportionate and necessary to achieve a legitimate government aim,
balancing individual rights against the public interest.



Explanation: A is correct because the right to privacy is a key constitutional principle, and any
government measure that interferes with it must be proportionate to the need for national security.
Courts will evaluate whether the legislation strikes a fair balance between individual rights and public
interests. B is incorrect because the law focuses on privacy rights rather than equality. C is incorrect
because parliamentary sovereignty allows Parliament to pass laws, but courts still have a duty to
ensure they comply with constitutional principles. D is incorrect because while separation of powers
is important, the key issue here is the balance between privacy and security. E is incorrect as the
issue primarily concerns privacy rather than fair trial rights.

Question 146

Correct Answer: A. Alice must prove that Bob owed her a duty of care, that Bob breached that duty
by performing substandard repairs, and that this breach caused the water damage. Bob may defend
himself by arguing that Alice’s delay in providing access to the property was the primary cause of the
water damage, absolving him of liability.

Explanation: A is correct because negligence claims require proof of a duty of care, a breach of that
duty, and a direct link between the breach and the damage caused. Bob’s defense would focus on
Alice’s delay, which he claims contributed to the damage. B is incorrect because it focuses solely on
contract terms rather than negligence. C is incorrect because recklessness is not required in a
negligence claim, and Bob's defense is more about negligence than intent. D is incorrect because the
key issue is whether the repairs were negligently done, not whether extreme weather caused the
damage. E is incorrect because implied warranties are typically more relevant to contract disputes
than negligence.

Question 147

Correct Answer: A. Susan could argue that the financial crisis qualifies as a force majeure event,
excusing her from performance under the contract. However, Ben may argue that a force majeure
clause is not included in the contract, and therefore, Susan’s failure to pay is a breach of contract that
entitles him to full payment.

Explanation: A is correct because force majeure can sometimes be used as a defense for non-
performance in certain situations, especially when an unexpected event (like a financial crisis) makes
it impossible to fulfil the contract. However, Ben could counter this by arguing that the contract does
not contain such a clause and that Susan must pay as agreed. B is incorrect because frustration
typically applies to situations where performance becomes impossible, not merely difficult. C is
incorrect because there is no indication that Ben breached the contract first. D is incorrect because
Ben'’s offer of partial payment is not legally binding without Susan’s acceptance. E is incorrect
because no evidence of misrepresentation has been provided in the scenario.

Question 148

Correct Answer: A. Margaret must prove that Ethan owed her a duty of care, that he breached that
duty by placing the sign in a dangerous manner, and that this breach caused her injury. Ethan may
argue that he took reasonable precautions, including placing the sign to warn pedestrians, and that
Margaret’s own carelessness contributed to the fall.



Explanation: A is correct because negligence claims require proof of a duty of care, a breach of that
duty, and causation of the injury. Ethan could defend himself by arguing that he acted responsibly in
placing the sign to prevent accidents. B is incorrect because there is no implied contract in this
scenario; the claim is based on tort law. C is incorrect because recklessness is not required for a
negligence claim; negligence is sufficient. D is incorrect because strict liability does not apply to this
case; negligence is the correct legal theory. E is incorrect because the issue is not about nuisance but
about negligence and whether Ethan breached his duty of care to prevent harm.

Question 149

Correct Answer: B. James could consider arbitration, where a neutral third party makes a binding
decision after reviewing the evidence. Global Tech may agree to arbitration if they believe the
process will be quicker and less costly than litigation, or they may reject it in favor of courtroom
proceedings.

Explanation: B is correct because arbitration is a formal ADR method that results in a binding
decision, which may be appealing to both parties when they wish to avoid lengthy litigation. A is less
formal than arbitration and does not result in a binding decision, which might make it less attractive
to James given the urgency of his situation. C is a valid option but lacks the neutrality and structure
provided by ADR methods like mediation or arbitration. D is incorrect because an ombudsman’s role
is limited and may not be suitable for a contractual dispute like this one. E is incorrect because
conciliation is less commonly used in commercial disputes and may not provide the resolution James
needs.

Question 150

Correct Answer: C. Helen could argue that the late delivery does not substantially impact the overall
outcome of the marketing campaign, as the designs were still completed to a high standard. Creative
Solutions may counter that the delay has caused irreparable harm to the timing of the product
launch, and that the breach justifies withholding payment.

Explanation: Cis correct because it suggests that the delay might not have had a significant impact
on the project, especially if the designs met the required standard. However, Creative Solutions could
argue that the timing of the campaign was crucial and that the delay was a material breach. A is
incorrect because force majeure typically applies to unforeseeable events like natural disasters, not
personal issues. B is incorrect because Creative Solutions did not waive the deadline in the contract.
D is incorrect because even minor breaches, particularly with deadlines, can be considered
significant, especially when they impact the overall project. E is incorrect because there is no
indication of misrepresentation in the scenario.

Question 151

Correct Answer: A. Ayesha should consider the fact that the contract specifically mandates
arbitration and that courts generally uphold such clauses unless there is a strong public policy reason
to disregard them. Wholesale Goods Ltd. may argue that the arbitration clause is binding and that
Ayesha is contractually obligated to resolve disputes in this manner.



Explanation: A is correct because arbitration clauses in contracts are generally enforceable, and
courts will typically require parties to adhere to them unless there is a compelling reason to
invalidate the clause. B is incorrect because the costs of arbitration, while a concern, do not generally
invalidate an enforceable arbitration clause. C is incorrect because most arbitration clauses cover a
broad range of disputes, including legal issues, unless specified otherwise. D is incorrect because
there is no indication that duress was involved in Ayesha’s agreement. E is incorrect because
arbitration is typically sufficient for most commercial disputes, even complex ones.

Question 152

Correct Answer: A. Mark could argue that his failure to attend the wedding was excused under the
doctrine of frustration, as the illness of his father was an unforeseeable event that made
performance impossible. EventMasters Ltd. may counter that the contract did not include a force
majeure clause and that Mark’s failure to send a replacement constitutes a breach of the terms.

Explanation: A is correct because frustration can be invoked when an event occurs that makes
performance impossible, such as a family emergency. EventMasters Ltd. could argue that the
contract was specific about Mark’s attendance, and that sending a substitute does not fulfil the
essential obligation. B is incorrect because no misrepresentation is suggested in the scenario. Cis
incorrect because EventMasters Ltd. may not be required to accept a substitute if the contract
required Mark’s personal attendance. D is incorrect because no implied term for family emergencies
is evident in the contract. E is incorrect because while Mark may be entitled to compensation, his
absence likely constitutes a breach of contract.

Question 153

Correct Answer: A. Claire is legally obligated to release the file to the new solicitor upon request, as
Sarah is entitled to her case file under the rules of professional conduct. Claire should ensure that
any sensitive information is properly redacted before releasing the file.

Explanation: A is correct because clients have a right to access their case files, regardless of whether
the solicitor was formally retained. Claire must comply with this obligation, though she may redact
confidential information that is not directly related to the legal services provided. B is incorrect
because the solicitor cannot withhold the file due to unpaid fees once the client has requested it. C is
incorrect because Claire cannot withhold the file simply because of the confidential nature of the
information disclosed. D is incorrect because all documents related to the case must be transferred,
and withholding personal notes or communications is not typically allowed. E is incorrect because
Claire has a professional obligation to release the file under the Solicitors Regulation Authority (SRA)
rules.

Question 154

Correct Answer: A. Andrew should refuse to draft the contract if he believes that it will result in
illegal conduct, as he is prohibited from assisting in any transaction that involves unlawful actions. He
should explain his reasons to the client and suggest alternative courses of action.



Explanation: A is correct because solicitors are under an ethical obligation not to assist in illegal
activities. If Andrew believes the transaction is unlawful, he must refuse to proceed and explain the
legal consequences of such actions to the client. B is incorrect because Andrew is not allowed to
assist in illegal transactions, even if directed by the client. C is incorrect because seeking advice does
not negate the responsibility to act ethically, and Andrew should act immediately to refuse to assist
in the illegal conduct. D is incorrect because Andrew cannot shield his client from legal consequences
by drafting unlawful agreements. E is incorrect because Andrew should not offer to pass the matter
on to another solicitor; his primary duty is to act ethically and refuse to assist in illegal transactions.

Question 155

Correct Answer: A. Emily must disclose John’s previous convictions if they are material to the dispute,
as failing to do so could constitute dishonesty or a violation of professional ethics. She should explain
to John that she is obligated to disclose the information to the opposing party.

Explanation: A is correct because solicitors have an ethical obligation to act with integrity and to
disclose material facts that may affect the outcome of a dispute. Withholding such information could
lead to professional misconduct. B is incorrect because client privilege does not extend to allowing
solicitors to withhold material information that could affect the fairness of the dispute. C is incorrect
because Emily is obligated to disclose the information proactively, not just reactively. D is incorrect
because Emily cannot wait for the opposing party to ask for this information if it is material to the
case. E isincorrect because settlement is not a way to avoid professional obligations regarding the
disclosure of material facts.

Question 156

Correct Answer: A. David must disclose the unpaid debt to the buyer, as failing to do so could
constitute a breach of David’s duty to act with integrity and fairness. It is also important to protect
the buyer’s interests by making sure they are fully aware of the financial liabilities related to the
property.

Explanation: A is correct because solicitors have a duty to act with integrity and fairness to all parties
involved. If David knows of a material fact that could affect the buyer’s decision to proceed with the
purchase, he is obligated to disclose this information. B is incorrect because even if the debt is not
listed in the title, David has a responsibility to disclose material information that could affect the
buyer’s decision. C is incorrect because while David can advise Mr. Martin to disclose the
information, it is ultimately David’s responsibility to ensure that all material facts are disclosed to the
buyer. D is incorrect because refusing to continue with the transaction or advising Mr. Martin to
settle the debt is not a practical solution in this case. E is incorrect because David has an obligation to
disclose material information even if the buyer's solicitor could uncover it later.

Question 157

Correct Answer: A. Sophia must disclose the potential conflict of interest to TechCorp immediately, as
her firm’s involvement with the other stakeholder could undermine her ability to represent TechCorp
impartially. Failure to disclose the conflict could lead to a breach of professional ethics and result in
disciplinary action.



Explanation: A is correct because solicitors have an ethical obligation to disclose conflicts of interest
that may affect their ability to act impartially in the best interests of their clients. This failure to
disclose could lead to a breach of professional conduct. B is incorrect because even if the conflict has
not yet affected negotiations, Sophia is still required to disclose it to ensure transparency and
maintain professional integrity. C is incorrect because waiting for senior partners’ guidance does not
absolve Sophia of her duty to disclose the conflict immediately. D is incorrect because Sophia’s firm’s
involvement with another stakeholder could affect the integrity of her representation, requiring
immediate disclosure. E is incorrect because even if TechCorp is unlikely to be concerned, the conflict
still needs to be disclosed to avoid ethical issues.

Question 158

Correct Answer: A. Mark is obligated to inform the court of the prior conviction if it is relevant to the
personal injury claim. Failure to disclose such material facts could undermine the credibility of the
claim and lead to professional misconduct.

Explanation: A is correct because solicitors are required to act with integrity and honesty. If the prior
conviction is relevant to the case, it must be disclosed to the court, as failure to do so could be seen
as dishonest or unethical. B is incorrect because, even if the opposing party does not raise the issue,
the conviction should still be disclosed if it is material. C is incorrect because advising settlement to
avoid disclosure is unethical. D is incorrect because the duty of confidentiality does not extend to
withholding material information that could affect the case’s outcome. E is incorrect because if the
conviction is relevant, it must be disclosed, regardless of whether it is directly mentioned by the

opposing party.

Question 159

Correct Answer: C. Emma should encourage Mr. Davis to evaluate the offer carefully but should not
pressure him to accept it. She should explain the potential benefits and risks of continuing with the
trial, taking into consideration both the financial and emotional costs of litigation.

Explanation: Cis correct because Emma must act in the best interests of her client while also fulfilling
her duty to provide realistic, professional advice. In this case, Emma should allow Mr. Davis to make
an informed decision, considering all relevant factors, including the risks and costs of trial versus
mediation. A is incorrect because Emma should not automatically advise her client to accept the
offer without full discussion. B is incorrect as it disregards the possibility that mediation might lead to
a reasonable outcome. D is incorrect because Emma is not required to withdraw simply because her
client disagrees with her advice. E is incorrect because Emma should not dismiss the mediation offer
without properly considering it in light of the case's context.

Question 160

Correct Answer: A. Tom should advise Ms. Green that the force majeure clause may legally absolve
the supplier from liability, but she may still have grounds to negotiate a new delivery date or seek
compensation for losses caused by the delay.



Explanation: A is correct because force majeure clauses often provide an excuse for non-
performance, but they do not necessarily eliminate the possibility of negotiating a new timeline or
seeking compensation for consequential losses. B is incorrect because it fails to acknowledge that
the clause may not be absolute and that Ms. Green could negotiate further. C is incorrect because
invoking a force majeure clause typically does not allow immediate termination of the contract
unless the contract explicitly allows such action. D is incorrect because while renegotiation may be
an option, it does not directly address the possibility of claiming compensation. E is incorrect
because force majeure clauses can affect a party’s liability, and it’s essential to consider them in the
analysis of the situation.

Question 161

Correct Answer: A. Alice should disclose her relationship with John to Mr. Harrison immediately, as
her professional duty to act in the best interests of her client requires transparency about potential
conflicts of interest.

Explanation: A is correct because solicitors have an ethical obligation to disclose potential conflicts of
interest to their clients. Alice’s relationship with John could be perceived as a conflict, and full
disclosure ensures transparency and upholds professional integrity. B is incorrect because waiting for
the opposing party to raise the issue is not a sufficient response to a potential conflict of interest. C is
incorrect because while consulting with senior partners is necessary, Alice must still disclose the
conflict to Mr. Harrison. D is incorrect because failing to disclose the relationship could lead to
professional misconduct. E is incorrect because transferring the case may not be necessary if proper
disclosure is made, but it could be a reasonable step if the conflict cannot be managed properly.

Question 162

Correct Answer: A. Michael should advise Mrs. White that she has a strong case for negligence, as
the shopping centre had a duty to take reasonable steps to prevent accidents, even if weather
conditions played a role in the incident.

Explanation: A is correct because the shopping centre may still be liable if they failed to take
reasonable steps to prevent accidents, even if the weather conditions were unforeseen. B is incorrect
because the foreseeability of weather conditions does not automatically absolve the shopping centre
from liability. C is incorrect because the shopping centre’s duty of care extends to ensuring the safety
of visitors, including mitigating weather-related hazards. D is incorrect because the time limit for
filing a claim is important but does not supersede the need for a thorough analysis of the negligence
claim itself. E is incorrect because focusing solely on the medical aspects does not address the
potential negligence of the shopping centre in relation to the accident.

Question 163

Correct Answer: E. John should advise his client to proceed with the appeal and argue both the
procedural error and the harshness of the sentence, as both could be sufficient to overturn the
conviction or reduce the sentence.



Explanation: E is correct because both procedural errors and disproportionate sentencing can serve
as valid grounds for appeal. The Crown Court is likely to consider both aspects in determining the
outcome of the appeal. A is incorrect because the procedural error could indeed be significant
enough to support an appeal. B is not necessarily correct, as the court would need to review all the
facts. Cis incorrect because focusing only on the sentence disregards other valid grounds for appeal.
D is incorrect because an appeal may still have merit based on either ground.

Question 164

Correct Answer: A. Maria should advise Mr. Clark that he can terminate the contract immediately
and seek damages for breach of contract, as Mr. Matthews'’s failure to deliver the goods within the
agreed timeframe constitutes a material breach.

Explanation: A is correct because failing to deliver goods by the specified date is generally considered
a material breach that justifies contract termination. B is incorrect because Mr. Clark is entitled to
terminate the contract due to the breach. Cis incorrect because Mr. Clark is not obligated to accept
late delivery if it constitutes a material breach. D is incorrect because the breach of the delivery date
is material regardless of the financial harm caused. E is incorrect because the breach of contract is
significant enough to justify termination.

Question 165

Correct Answer: C. Elizabeth should withdraw from representing Mr. Thompson if he refuses to
disclose the information, as continuing to represent a client in this situation could result in
professional misconduct.

Explanation: Cis correct because Elizabeth has an ethical duty to maintain honesty and integrity,
which takes precedence over her duty to act in the best interests of her client. Continuing to
represent a client who intentionally conceals material facts could lead to professional misconduct. A
is incorrect because Elizabeth cannot advise her client to act dishonestly or to conceal information
from the court. B and E are incorrect because Elizabeth cannot disregard the concealed information
as it violates ethical standards. D is incorrect because settling the case out of court without
addressing the ethical issue would be inappropriate.

Question 166

Correct Answer: D. Richard should advise the local authority to consult with the Information
Commissioner’s Office (ICO) before proceeding with the policy to ensure that it complies with data
protection law.

Explanation: D is correct because it is prudent for the local authority to consult the ICO to ensure
that their policy complies with data protection law. A is incorrect because simply following GDPR
principles is not always sufficient without ensuring compliance with specific obligations. B is incorrect
because while the policy may require review, it does not necessarily need to be entirely
reconsidered. C is incorrect because relying solely on explicit consent might not be enough if other
lawful bases for processing data are more appropriate. E is incorrect because public interest
exemptions do not automatically justify non-compliance with data protection law.



Question 167

Correct Answer: B. Caroline should request a no-case-to-answer submission, arguing that the
prosecution has not provided sufficient evidence to support a conviction.

Explanation: B is correct because a no-case-to-answer submission is appropriate when the evidence
presented by the prosecution is insufficient to support a conviction. A is incorrect because pleading
guilty would not help Mr. James, who maintains his innocence. C is incorrect because remaining
silent could harm the client’s case, as the prosecution could argue an adverse inference. D is
incorrect because accepting a plea bargain while maintaining innocence is ethically and legally
guestionable. E is incorrect because providing a detailed statement should only be done after
considering the evidence and strategy.

Question 168

Correct Answer: B. Sarah should recommend that the articles of association be amended to include
specific provisions regarding borrowing and guarantees, to ensure that the company can clearly
outline its powers and limitations.

Explanation: B is correct because the articles of association should be amended to clarify the
procedures for borrowing and issuing guarantees. This will ensure that the company’s operations are
aligned with corporate governance best practices. A is incorrect because while the Companies Act
2006 confers certain powers, it is good practice to specifically outline such matters in the articles. Cis
incorrect because shareholder approval is not automatically required unless specified in the articles
or a shareholder agreement. D is incorrect because relying on the bank’s policies alone can lead to
confusion or disputes. E is incorrect because re-registering as a public company would not
necessarily address the issues regarding borrowing.

Question 169

Correct Answer: C. James should advise Rachel to terminate the contract immediately and seek
damages, as the breach was material and has caused significant financial harm to the business.

Explanation: Cis correct because the delay in delivery constitutes a material breach, and Rachel has
the right to terminate the contract and seek damages for any financial harm. A is incorrect because
simply suing for breach of contract may not address the issue of terminating the contract, which is
appropriate given the material breach. B is incorrect because accepting the delay would not protect
Rachel’s interests, particularly as the breach has caused financial harm. D is incorrect because
although negotiation can be beneficial, the breach is significant enough to justify legal action. E is
incorrect because both direct and consequential losses can often be claimed in breach of contract
cases, depending on the circumstances.

Question 170



Correct Answer: A. Jonathan must prove that the supermarket owed a duty of care to Mrs.
Thompson, breached that duty, and that the breach caused Mrs. Thompson's injury, along with
foreseeable harm.

Explanation: A is correct because to establish negligence, Jonathan must show the duty of care, a
breach, causation, and that the harm was foreseeable. B is incorrect because negligence, not strict
liability, is the standard for these types of claims. Cis incorrect because proving that the
supermarket’s actions were the sole cause is not necessary, as contributory factors may exist. D is
incorrect because demonstrating causation and foreseeability are crucial elements of negligence
claims. E is incorrect because regular inspection is not the key factor in proving negligence; the
breach of the duty of care must be established.

Question 171

Correct Answer: C. Anna should recommend that Mr. Blake enter into mediation with the neighbour
to facilitate a neutral third party in resolving the dispute.

Explanation: Cis correct because mediation offers a structured but non-confrontational way for both
parties to resolve the dispute with the assistance of an impartial third party. A is incorrect because
litigation should be considered as a last resort due to the time, cost, and potential damage to
relationships. B is incorrect because although negotiation is a good first step, mediation provides a
more formal structure and support. D is incorrect because seeking an injunction may be premature
and aggressive at this stage. E is incorrect because even if the obstruction seems minor, it is still
worth resolving through appropriate means.

Question 172

Correct Answer: A. Mark can terminate the contract for breach and claim damages, as the delay
constitutes a material breach of the agreement.

Explanation: A is correct because the delay in delivery is a material breach, and Mark is entitled to
terminate the contract and seek damages for any loss suffered. B is incorrect because Mark can still
claim damages if the delay constitutes a material breach. C is incorrect because the cause of the
delay is irrelevant if the delivery date was an essential part of the contract. D is incorrect because
even if the delay was not explicitly stated as a condition precedent, it may still be considered a
material breach. E is incorrect because Mark is entitled to terminate the contract and is not obliged
to pay for goods he has not accepted.

Question 173

Correct Answer: B. Laura should advise Mr. Finch of the potential risks and encourage him to
reconsider the purchase, but she cannot disclose the information to anyone else.

Explanation: B is correct because Laura has an ethical duty to advise her client of the risks but must
respect confidentiality. A is incorrect because the solicitor’s duty to act in the client’s best interest
includes providing proper advice about the risks. C is incorrect because disclosure to third parties
without the client’s consent would breach confidentiality. D is incorrect because refusing to continue
the transaction would be too extreme, and Laura should instead provide sound advice. E is incorrect



because acting solely based on the client’s instructions without addressing the risks would be
unethical.

Question 174

Correct Answer: C. Megan must prove that the product was defectively manufactured, and the
defect was the direct cause of Ms. Harris’s injury, under strict liability principles.

Explanation: Cis correct because under product liability law, Megan must prove that the product was
defectively manufactured, and that defect caused the injury. A is incorrect because negligence alone
is not enough to establish a product liability claim; strict liability is the standard in such cases. B is
incorrect because proving defective design is not necessary for all product liability cases;
manufacturing defects are sufficient. D is incorrect because proving fault in quality control is not the
focus of strict liability claims in product liability. E is incorrect because contributory negligence is not
a defense in strict liability product liability claims.

Question 175

Correct Answer: B. Courts in common law systems may create new legal principles or modify existing
ones through judicial decisions, especially when the law is ambiguous.

Explanation: B is correct because common law systems are based on judicial precedents, where
courts can interpret and adapt legal principles as they see fit, especially in cases where the law is
unclear or evolving. A is incorrect because courts have the ability to adapt the law through judicial
decisions. Cis incorrect because courts do have the power to create legal principles in common law
systems. D is incorrect because courts in common law systems can evolve the law, not just apply
statutes. E is incorrect because the court’s ability to modify legal principles is not dependent on the
consent of the parties.

Question 176

Correct Answer: A. Mr. Turner is entitled to terminate the contract immediately because the delivery
date was an essential term of the contract.

Explanation: A is correct because the delivery date is a key term of the contract, and failure to meet it
constitutes a material breach, giving Mr. Turner the right to terminate the contract. B is incorrect
because the breach does not need to be due to negligence; failure to meet the agreed term is
sufficient. C is incorrect because the right to terminate exists even before the 20th January deadline,
given the material nature of the breach. D is incorrect because the delay itself breaches the
agreement, and Mr. Turner has the right to terminate. E is incorrect because Mr. Turner is not
necessarily entitled to a return of money paid unless the contract is properly terminated.

Question 177

Correct Answer: B. Emma should refuse to exaggerate the evidence, as this would violate her ethical
obligations to act with integrity and honesty.



Explanation: B is correct because solicitors are ethically bound to act with honesty and integrity, and
exaggerating evidence would breach these ethical duties. A is incorrect because exaggerating
evidence is unethical and can lead to disciplinary action. C is incorrect because while Emma may be
concerned, the first step is to refuse to participate in unethical conduct, rather than reporting her
colleague immediately. D is incorrect because discussing unethical conduct with the client would not
be appropriate, as it suggests encouraging improper behaviour. E is incorrect because while Emma
should recommend pursuing the case truthfully, she cannot suggest unethical conduct.

Question 178

Correct Answer: C. Mediation would be the best option as it provides a neutral facilitator to help
both parties find common ground, but the decision is not binding.

Explanation: Cis correct because mediation allows both parties to discuss the dispute with the help
of a neutral facilitator, and though the decision is not binding, it helps parties come to a resolution. A
is incorrect because while negotiation is informal and allows flexibility, mediation provides more
structured guidance. B is incorrect because arbitration is typically used when parties agree to be
bound by the arbitrator’s decision, which may be too formal for this dispute. D is incorrect because
conciliation may not provide as clear a path to resolution and involves the third party making
suggestions, not necessarily binding ones. E is incorrect because litigation should be a last resort, as
it is time-consuming and costly compared to ADR.

Question 179

Correct Answer: B. Brian must prove that the store owner failed to take reasonable care in
maintaining a safe environment, which directly caused Ms. Anderson’s injury.

Explanation: B is correct because to prove negligence, Brian must show that the store owner did not
maintain a safe environment, and that this failure directly caused the injury. A is incorrect because
negligence does not require intentional conduct or recklessness, just a failure to take reasonable
care. Cis incorrect because knowledge of the dangerous condition is not required, but failing to
address it is. D is incorrect because gross negligence is not required in standard negligence claims,
and foreseeability alone does not determine liability. E is incorrect because while contributory
negligence may reduce damages, it does not necessarily bar recovery.

Question 180

Correct Answer: B. The partnership agreement should clearly outline the roles and responsibilities of
each partner, including financial contributions and decision-making authority.

Explanation: B is correct because a well-drafted partnership agreement should address the specific
roles, responsibilities, and contributions of each partner to avoid future conflicts. A is incorrect
because requiring mutual consent for all decisions might lead to inefficiencies. C is incorrect because
automatic dissolution in response to disagreement is not practical and could harm the business. D is
incorrect because profit-sharing should reflect the contributions and agreements between partners,
not necessarily be equal. E is incorrect because addressing dissolution is critical for clarity and to
manage disagreements or exits from the partnership.






